Time : 3 Hours Marks : 200
Instructions :

(1)

(i)

Each question carries one mark.
(28 (D% 28 Hrdy Sode.

Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

8RS WS (D8 (D adg &I Toe3es? DO TS DI dNdy D)5 7o
20T @08 1, 2, 3 BE 4 T ad)d OMR JD6rerd HESnS® (H¥)% Do 0§odd
Sowg o DEEd /e S arowod D) GHWVrA0W JoHIBLo.

1. A library has an average of 510 visitors on Sundays and 240 on other days. The average
number of visitors per day in a month of 30 days beginning with a Saturday is
2.8 (Hogrodirds Himd wdarocred® 510 $008 L0d5» NAdS dared® 240 H08
DosEyHen HTH. FITEH0E Tndodhg 30 darer KOAS Jos® o §erd (Hogrodirdd
5T Do %o Dookd
(1) 250 (2) 276 (3) 280 (4) 285

2. Read the following statements

Number of candidates interviewed by panel A out of the three panels A, B, C is

I.  The three panels on an average interview 20 candidates every day.

II. Number of candidates interviewed by A is 2 more than the number of candidates
interviewed by B and 1 more than that by C.

(1) I alone gives the answer (2) 1II alone gives the answer

(3) I & II do not give the answer (4) I & II together give the answer

& (od argpgod ISH08

Soe o 5)“53@;50@ A, B, C o&?, 31’535 A3 q0&8rg g Enforh) & @ap’ggo@ dowg

L3 arg3¢oy dfend (08 &%= 20 Ho00 wafgdrots gobdrgg BEXE

I A3 ao0drgg Sokbg & wyigdro dopg B T By B @e;)'ggo@§o%3 2, C3
Badog e @aj.)’géo@ 08 1 INESPRE

(1) T $rED ddrgrdo aod (2) II Jr@B> ddorgrdo adod

(3) I mose II, Bodr ddrgedo aés@:@ (4) I'moseIl, Bodr 0 ddorerdo arom




Assertion (A) : If the average of 20 numbers is zero, then there can be at the most
19 positive numbers among them.

Reason (R) : The average of the first 20 natural numbers is 10.5.

(1) Both (A) and (R) are individually true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

VByER» (A) 1 20 Jowpgo (dAG) D00 Dol ®ond, ¢St déom 19 &3
foospg@o GO%OWY.
s~dmo (R) P BdE 20 dHre Dopge (ddw) Dordd 10.5.

(1) (A) $:605» (R) Bodr aSdom HTIFs°% (A) & (R) HTD 5w
(2) (A) %005 (R) Bodr s&d8om $T5F 59 (A) & (R) $TD 88 59
(3) (A) 536 529 (R) %05
@) (A) %0578 50 (R) $T5S

An owner increases the rent of his house by 5% at the end of each year. If the current rent
is Rs. 3000 per month, what will be the rent, in rupees, after 2 years ?

28 808 OEITI S5 R0 BT (D8 VodE ¥o WVIE 5% Dowherds. © 08
aH)8 o3 JoH Er. 3000 o wond, Tod DodE e SHTE 0B (Crardhed)
QD0 Gotwod?

(1) 3300 (2) 3150 (3) 3307.50 (4) 3207.50

A man bought a horse and a carriage for Rs. 30,000. He sold the horse at a profit of 20%
and the carriage at a loss of 10%. Finally he gains 2% on the whole. The cost of the horse
is

(1) Rs. 9,000 (2) Rs. 10,000 (3) Rs. 12,000 (4) Rs. 15,000

2.8 Hg g Momd) Dol HIED (f?i) 8. 30,0005 &xryko. &8 (0 @8l 20%
o8, HIEY A 10% S8 ®H7y k. VIS sl Jndo QNS 2% o
dgedo. H8o b

(1) &. 9,000 (2) &>. 10,000 (3) . 12,000 (4) . 15,000

On an article the manufacturer gains 10%, the wholesale dealer gains 15% and the retailer
gains 25%. If retail price of the article is Rs. 1,265, the production cost of it is

(1) Rs. 800 (2) Rs. 850 (3) Rs. 900 (4) Rs. 950

2.8 DD, SWBrEarEads 10%, &°% agar08 15%, Vo8 argards 25% orgo
5008, @ I/ VS & . 1,265 wons, o) S5rd P

(1) . 800 (2) . 850 (3) . 900 (4) 8. 950




7. The difference of two numbers is 1660. If 7.5% of one number is equal to 12.5% of the
other number, then the two numbers are
Todo Jdowpge HGg PSo 1660. 2.8 Dopg W) 7.5%, 588 JSopg W) 12.5%8
(“0265"26‘@03 @ Todko Tooaog@o
(1) 2490, 4150 (2) 2510, 4170 (3) 2600, 4260 (4) 2700, 4360

8. In a group of people 72% drink coffee, 44% drink tea. If each person drinks coffee or tea
and if there are 40 persons who drink both then the number of people in the group is
w8 Dot ég%@eﬁ% 72% %508 2%, 44% H08 & (@ Koz, o does? (08
265_% P, Smrd (@ oerdy, Todor L@ﬁ é?gé_%@o 40 %086 ®ond © dIwrHrost
Eésé_.z@ (“00995
(1) 250 (2) 200 (3) 300 (4) 450

9. A shopkeeper sells two T.V. sets for Rs. 20,000 each. On one he gains 15% and on the other
he loses 15%. Then, the shopkeeper’s gain or loss is
(1) gain of 2.25% (2) gain of 4% (3) loss of 4% (4) loss of 2.25%
a8 Sostmardodo w87 &) TV &ov. 20,000 D pd Todo TVer edoyoeds. a8 TV
©D03 0 ©dI8 15% orgfdn H00805» Todd TV D «@8d8 15% S dHn Hd)36.
VOYP®B, @ $57ErdIE DHWNS oredw GH NFCRN
(1) orefdo 2.25% (2) orefdn 4% (3) G D0 4% (4) S D0 2.25%

10. A shopkeeper purchased a TV whose marked price is Rs. 16,000 from a dealer at two

successive discounts of 20% and then 10%. The shopkeeper spent Rs. 480 for transportation
of T.V. If he sold the T.V. for Rs. 15,000, his gain percentage is

ud &% J"S@“G 08 ¥ Ssroordid (DEEE Jo v 16,000 &Sy 28 TV
HEO Todo oy oo 20% » SHard 10% o¢® S . w88 & TV Sarer
Bosad8 . 480 P&) @ondd. ¥dd » TV &, 15,0008 @3)0%8, ©EI8 SIS
ol S D0

(1) 30 (2) 25 (3) 20 4) 15




11. A shopkeeper finds that the profit earned by selling an article for Rs. 1,470 is equal to the
loss in selling the same article for Rs. 1,050. If he is to make a profit of 30%, the sale price
of the article should be (in rupees)

2.8 Sostercrdoddy af HDoHDo . 1,4708 @830&3 DS orefdn, @B SdHBe 8. 1,0508
©d B HDYS :‘éaéoo@s 2OVoNIEI HHoDoTd. w8 ¥ HHN) @Eéogﬁéooé% 30%
s D0 oo, o DL GodHOVI WD TR Y (Srarones?)

(1) 1638 (2) 1600 (3) 1578 (4) 1532

12. A and B started a business with Rs. 16,000 and Rs. 12,000 respectively as investments.
After 3 months A withdrew Rs. 5,000 and B invested Rs. 5,000 more. After 3 more months
C joins the business by investing Rs. 21,000. After a year they got a total profit of
Rs. 26,400.

Observe the following statements
(a) The profit must be shared among A, B, C in the ratio 7 : 9 : 6
(b) (Profit of B — Profit of C) = Rs. 3,600
(c) A’s profit is Rs. 16,000
The correct answer is
(1) (a), (b) are correct (2) (b), (c) are correct
(3) (a), (c) are correct (4) All (a), (b), (c) are correct
A %8050 Beoo 380 8. 16,000, &, 12,0000 éo &&° ¥ argardo (rdodowrdo.
3 Jvo SHhard A, S 5.00000 II8) @@?F;@éo, B zos® &r. 5,00000 o &
e, a0f¥ 3 Jve Hard C, 8. 21,0000 e &8 srgrdos® ook, o8
@oéégdo gSard 08 Jwdo oo, 26,400/-© wz)’o SD)obd.
Bod (DIWSdweo $0300B0&
(@) orerd) A, B, Coo 7:9:6 3031508 HoSE 5885
(b) (B8 orgfo - C 8 orgfo) = oo 3,600/-
(c) A8 &r. 16,000/- orefo
DOODS Ddrerdo
(1) (a), (b) @ $000ID (2) (b), (c) @0 $B800ID
(3) (a), (c) ® HOTNID (4) (a), (b), (c) oo @fbl D0 DD
13. A is twice as efficient as B and together they can finish a work in 18 days. A alone can

finish the work in
(1) 27 days (2) 54 days (3) 36 days (4) 45 days

B ¢35 A Tgop 3“26065058 D Tl L0 J0FEr O af HID
18 &farod® &ro Sohdeds. A a8y d & DI Yo Sohdo HHoaho

(1) 27 &%een (2) 54 &feren (3) 36 &*ecen (4) 45 &%een




14.

A and B undertake to do a piece of work for Rs. 6,000. A alone can do it in 6 days and
B alone can do it in 8 days. With the help of C, they finish it in 3 days. The share of
C in the amount is

(1) Rs. 3,000 (2) Rs. 2,250 (3) Rs. 750 (4) Rs. 1,500

A, B oo 28 93D & 6,000 Hro Tohardd wdp& o, & DAY A ¥yl 6
erodtir, B a8y 8 Perod®S Pro Bohiod. C D08 8 & HIJ 3
o’ Hro Tad. Fo0yd® C B o

(1) . 3,000 (2) 8. 2,250 (3) . 750 (4) . 1,500

15.

A cricket game is played between two teams with 50 overs. In the first ten overs of the
game the run rate was only 3.2. In the next ten overs it is increased to 4.6. If the captain
decides that the teams’ total should be 303 runs, what should be the run rate for the
remaining 30 overs ?

Todk xwo 28 50 &5 (836 wbdd waom. woS*d Bwge 10 éuégeS*‘?D Do
Dordd 3.2 SSHhae 10 éozégé% ©8 4.68 H0NH0L. 2h IG5 Jndo DI

303 50‘5915@3 Dgooa‘fgo AdS 30 é;?ég’ej”s DB Hordd Hod sowd?
(1) 6.25 (2) 6.5 3) 7.0 “4) 7.5

16.

A company paid Rs. 6,00,000 as bonus to its employees at different levels A, B and C. Each
employee at level A receives one and half times of the amount that was paid to each
employee at level B and each employee at level B was paid twice the amount paid to the
employee at level C. If 50 employees were on level A, 75 on level B and 100 on level C,
how much amount was paid to each employee of level A ?

(1) Rs. 1,500 (2) Rs. 3,000 (3) Rs. 4,500 (4) Rs. 6,000

A, B 500030 C e9do g)"ooo@eﬁ’s &) ﬁﬁsgﬁows’o w8 0™ &7, 6,00,000 Sngo SPEHme
adod. A Fons®d %585?’@ DS BnEo B Frond®d ¢&gh8 ad)d Fooedd w880 ¢
Téw Eﬁo@oﬁ!n B ‘g“oooeé”sé’\) a&°gh8 adyd 33.3920 C cgvoooeS%EO a&°gh8 adyd Snaed8
Todo By A Frond® 50 H008, B Fows® 75 $508, C rond® 100 H08 «&gHesod
A cg“oaaeS% t%?él a¥ a&°gn8 aé)g:&zﬁﬁé% Qo&? |

(1) &x. 1,500 (2) &x. 3,000 (3) &x. 4,500 (4) &x. 6,000




17.

While covering a distance of 24 km, a man notices that after walking for 1 hour and

5
40 minutes, the distance covered by him was 5 of the remaining distance. His speed of

walking is
(1) 9 km/hour (2) 6 km/hour (3) 10 km/hour (4) 8 km/hour

24 8.5 S0y, (HBrB0T (008 & $g8 a8 Hod 40 AIrwdr SEGVS SSHFE,

5
©@$%0 WADYS SrSost 1 H08 Srdo (HArBomrdd dHdowrdy. wdd &8 Tdo

(1) 9 8d/Ko (2) 6 8%/koe  (3) 10 8D/oe  (4) 8 8do/ifos

18.

A cyclist reaches a certain place in 6 hours. If he reduces his speed by %th, he goes 5 km
less in the same time. His speed (in km/hour)

af $g8 N8I (HNrBod, o (DT 6 doved® Jdords. & Hg8 «dd Iy
o8& o é@oiﬁo&o'&ﬁ, OT HHr0%5208° wEdo 5 8 EEH (DASredIncds. ©E Sdo
(83/K0&E)

1 24l 34l 4 32
(1 5 2) 44 () 45 @ 3¢

19.

Two trains are running in opposite directions with the same speed. If the length of each train
1s 100 meters and they cross each other in 10 seconds, then the speed of each train is
(in km/hour)

Bodko of_ﬁ«z;fo@ és@éé 8%5® 23 FHos (PASreddoryow. w878 Teoo ey 100
DO G0l ©d ¥ HEES 10 NEIS oS, o8 Too TwE) Jdo
(fod¥ 385”3&‘)063&568)

(1) 84 2) 72 (3) 36 4) 32

20.

The distance between two stations A, B is 390 km. A train starts from station A at 10 AM
and travels towards station B at 65 kmph. Another train starts from station B at 11 AM and
travels towards station A at 35 kmph. The time they meet is

A $06050 B "fgézc‘g Hogg &rdo 390 8., ¥ Beo _‘fgﬁuzéo A 358 10 A M 65 8.d0/80
BH08  CHheoBO YRl B FH (dXrdo00. F6E Tew Hase B ¢ 11 AMDH
35 8o/do D08 CHhenTWO DRI A BY (DArB000. 0 Eeoto®HT Ddodkho

(1) 2 PM (2) 2.15 PM (3) 2.30 PM (4) 2.45 PM




21.

The number of times in a day, the hour and minute hands of a clock are in a straight line
but opposite in direction, is

w8 8fwd® HR05rSos®d Kowe H28050 Jdare By a3 BT Tt Hg8TY
&%t D) JEo odwrow

(1) 20 (2) 22 (3) 24 (4) 44

22.

A watch gains 5 secs in 4 mins and was set right at 8 AM. What time will it show at
9 PM on the same day ?

28 B8 KRBTS0 (H8 ook IMredH 5 NEher whfor 3000, T
e&0%0 8 HowodH HO0TH 9B G oo@ 9 KovwodH ©b Wred BIw Dok?

(1) 9:15:00 PM (2) 9:16:15 PM (3) 9:14:15 PM (4) 9:15:05 PM

23.

The last day of a century cannot be

(1) Monday (2) Wednesday (3) Friday (4) Saturday
o0 0’ D0 &' ©HTIO
(1) FHoado (2) g0 (3) #HEado (4) $Ja>Jo

24.

X and Y invest in a business in the ratio 2 : 3. After donating 10% of the total profit to a
school, X gets Rs. 900 as profit. Then Y’s profit is

(1) Rs. 1,600 (2) Rs. 2,500 (3) Rs. 2,250 (4) Rs. 1,350

a8 Fgardod® X $0050 Yoo 2 : 3 D2 )8S° g & grd. Bwdo orgod® 10%,
a8 PEFTOLH JorFomr WS Sard XE Sr. 900 orgo SVYos. @iy YE SV
oo

(1) . 1,600 (2) & 2,500 (3) 8. 2,250 (4) 8. 1,350

25.

Ram and Shyam enter into a partnership. Ram supplies whole of the capital amounting to
Rs. 60,000 with the condition that the profits are to be equally divided and that Shyam pays
Ram interest on half of the capital at 10% per annum, but receives Rs. 150 per month for
carrying on the concern. Find their total yearly profit when Shyam’s income is half of
Ram’s income.

(1) Rs. 10,800 (2) Rs. 8,400 (3) Rs. 14,200 (4) Rs. 12,600

ore Hod s ?5530 wﬁ@sé\)goef Sngo S 60,000 By S o PG & 2y
HDYS orerd) DITBomr HoSHTohEr HH0w TgH Do D & NS oS
DoddyoruE 10% écgg 80, @°gardo d&DoNI0&EH JoH . 150 @Yoo§03é3§on°
D080 DS HTK. T oo & oo o0 S b0 &S yowE, FgFrdod’
IS Bogo DodENE wrdo Dod?

(1) &. 10,800 (2) d&. 8,400 (3) . 14,200 (4) 3. 12,600




26. In a Geometrical figure if radius is 7 units and height is 6 units, match the following

(assuming suitable units and take m = 22/7).

(a) Area of the circle (i) 264
(b) Volume of the cone (i1) 924
(¢) Volume of the cylinder (i1i) 154

(d) Curved surface area of the cylinder (iv) 308

gNBH Dred® ag>do T crder, 8y 6 5ardi 0¥ & (806 &G
2EHSWoB (DTS ordey 80808, 1 =22/7 ©d &8s

(a) yg Bwrogdw (1) 264
(b)) $0%HD) $Ho3H8Irerdw (i1) 924
(€) [rddn PoIDO BT H0 (iii) 154
() grdo BESo Brogo (iv) 308

(a) (b) (c) (d)
(H Gy Gy o Gy )
2 G Gy (D) Q)
) Gv) (i) (D) @
4) (D) @0 (v (i)

27.

Match the following

List—I List—II
(a) Cuboid (1) Square
(b) Cube (i1) Circle
(c) Sphere (ii1) Triangle
(d) Cone (iv) Rectangle
Bod o8I =g D050

der—I e —II
(a) &g Do (i) WS (do
(b) oo (i) Hygo
(c) A*Fdw (ii1) (Baezdo
(d) o0& (iv) 6gSSa8(do

@ (b © @
o Gy G (i)
@ ) @ (i) (i)
G G @ Gy (D)
4 G G @O (Gv)




28.

If the length of a certain rectangle is decreased by 4 cm and width is increased by 3 cm,
a square with the same area as the original rectangle would result in. The perimeter of the
original rectangle in cm is

a¥ BESES(Ho ToEy TEDD 4 cm SAoD Bdeoyd 3 om HodT IFAY
BEE(D 3Togo, BEISY(D FTogo8 DIrdHoNS00. wPd SIISHI(DY Wogo
Fod o.doos® ‘

(1) 46 (2) 48 (3) 50 4) 52

29.

Ramu cuts a metal plate into two equal halves. He again cuts one half into smaller pieces
of equal size. Each small piece is of 20 grams in weight. If he has a total of 7 pieces of
the metal, what was the weight of the original plate in grams ?

oS af STErR THA Tods Do grmeom EB0oTdd. 80A a8 DE ey DIrD
PO &) W) dnE oonr EZ0owrdd. (D8 VI dwE) W) SR 20 (7. «Eé
$S Bogo 7 TH $wEpeo 608, wdd 00V TG TEH  &HY (m.od® Jod?

(1) 140 (2) 160 (3) 210 (4) 240

30.

Two metallic cones of heights 4.1 cm and 4.3 c¢cm and each radius of base radius as
2.1 cm are melted together and recast into a sphere. The diameter of the sphere in cm is

4.1 0.0 $26050 4.3 =vo. J&yod, 2.5 &) a8 2.1 =200.29 ap’rmg@‘t’go §OH &)
Tods S'ErY FoHHod 000D o AFom HOTH. © FYY Fgddn Do.wed®

(1) 4.2 (2) 4.5 (3) 4.8 4) 5

31.

What least number must be added to 2000 to get a number exactly divisible by 19 ?

2000 Domgd & w& DI) Dompgd LIVIT Sy Dowg 19 T& JIFyhdwooe
A oS Bod0?

(1) 14 2) 5 3) 1 “4) 3

32.

A DWACRA woman wants to make candles out of a wax block of dimensions 60 cm,
35 cm, and 22 cms. The number of cylindrical candles that can be made with diameter
7 cms and height 4 cms is (Take w = 22/7)

¥ @g(s® 3598 60 200.93, 35 200.90 $00050 22 %0.doen @56‘1 §o$62633§8 5"5“5@5_00@3
5055"5@2605"263@, 7 200.200 Wg(oéoo 598050 4 0.dow o)é_aoés RYesuplel Boﬁogﬁ@ﬁé
QrarsrdYy §Sgdie Dowg (M= 22/7e 3%o8%08 )

(1) 75 (2) 150 (3) 300 (4) 400




33.

Find the greatest of the following numbers
& (800 Dopged® @8 DG Dopg EHoA"Hodw

V5 -3, N7 -5, Vo -7, V1149
(D) J5-43 2) J7-45 3) J11-+9 @ Jo-7

34.

Five bells begin to toll together and they toll at intervals of 6, 5, 7, 10 and 12 seconds
respectively. How many times they toll together in one hour excluding the one at the start ?

5 fower 2TIO (Borfdo DBoudeo deron. &€ Hodeo HEImM 6, 5, 7, 10 Ho0c»
12 80g 500 (Brdodd. JodEIr0 (Bridd SEH) neHor %08, ¥ Xo®
DHo0%0S® ©d @b; NG OV (Borrfoda?

() 7 2) 8 3) 9 (4) 10

3s.

In a mixture of milk and water of 40 litres water is 5%. The amount of water (in litres) to
be added to this mixture so as to make water 10% is

e, 5%50@ EONS 40 O&Y (¥%r0S® A8 5%. I8 Lo 10% @ﬁog@go 20870y
b%fo@ &3 Z)ot‘é?érb% Eodrwod, ¥oddodd D8 Hodrmo (@@Q&)

1 1 2 1
M S5 @ 33 3) 25 ) 6y

36.

The number of integers which are not perfect squares between 16% and 172 is
167 %0050 177 S0y HOUrg $$smer 50 Hrgroste Howg
(1) 32 (2) 33 (3) 34 (4) 28

37.

The difference between the compound interest and simple interest on a certain sum at 10%
per annum for 2 years is Rs. 631. The sum is

(1) Rs. 63,000 (2) Rs. 63,100 (3) Rs. 63,500 (4) Rs. 63,600
§°0¢ 23”5503&2) 0% 10% TOpS Todks DodsyoroH zlSLéEéc‘% H0B 0% P
$do Hgg Fdo . 631, © Bwdo a0y

(1) &o=. 63,000 (2) 8. 63,100 (3) . 63,500 4) 8. 63,600

38.

If an amount of Rs. 80,000/- was kept in a bank for a compound interest at the rate of 10%
per year to get an interest of Rs. 16,800/-, then the amount was in the bank for a period of
(1) 1% years (2) 2 years (3) 2Y years (4) 3 years

wdeo . 80,000/- o Jrend 10% 715L§é(§ Ten&® S, 16,800 é<§ ST e¥

rgoHS® $0DE © wImD rgoHS” oD STODHIWS

(D) 1% dod&yoren (2) 2 Joddyoren (3) 22 DodEyored (4) 3 DodSyorew




39.

A person gives a loan of Rs. 50,000 at a rate of 8% per annum simple interest for 2 years
and another Rs. 50,000 at the same rate compounded annually for 2 years. After 2 years the
difference in the amount he gets back is

a8 Hg 8 . 50,0008 8% Jrgrden é%é‘. 2 Dodgyorol SHwmom zwrEd L0050
$:6° 8. 50,0000 ©T Tord Jeodd SESES 2 Lodyored awe)do. ToBY))
SSTd ©EI8 80n IV Bovoes® Fdo

(1) 300 (2) 320 (3) 360 (4) 380

40.

Match the following

A sum of money is lent at simple interest. Then the money gets doubled if

Rate of interest No. of years
(i) 16%% (a) 12%
(i) 20% (b) 6
(iii) 8% (c) 5

Bod A0 =SDTWos
§0d PIw0yd Fgrde éé% ORYHIERI0. & BIngo TYow) odmds

%8 7o SoRdddwe dowg
() 16%% (a) 12V
(i) 20% (b) 6
(i) 8% © 5

(1) (i) (i)
(M (@ (b) (c)
2  (© (b) (a)
3 (@ (c) (b)
@ O (© (a)

41.

A bank is giving loans at the rate of 10% simple interest. Kumar asked for a loan at 8%.
After verification, the bank sanctioned his loan at the rate he asked as the bank is getting
an interest twice as much as it gets on Rs. 40,00,000/- at the rate of 10%. What amount did
Kumar take ? (in lakhs of rupees)

a8 ewrgod 10% D8 écé@s Soeren @d0b. D6 8% Eécég oo §orcko. Dol
S0°g, wrgoBH & Ko DTV I&, & 40,00,000 2 10% 88 STy BoogoH
2 Twom Bodos® HIrEH Boege)  HoowTd BN0H. 506 @Yooéozé‘l S0 D00 ?
®30%5 $& Teos (vfo Srardhod®

(1) 100 (2) 90 (3) 200 (4) 180




42,

The compound interest on a certain sum at 16% % per annum for 3 years is Rs. 12,700. The
simple interest on the same sum with same rate of interest and for the same period is
(1) Rs. 9,600 (2) Rs. 10,800 (3) Rs. 12,000 (4) Rs. 10,200
Jeod 162/3% THPS 3 DodEyorodH Fod @“éoa%zo zlSLéécc‘f;e Soe. 12,700 e002036.
YA 0 = ®08 X)czé Ten&®, 908 VHHrIE Tl X)é

(1) . 9,600 (2) 8». 10,800  (3) &». 12,000  (4) S». 10,200

43.

The compound interest of an amount P for one year at the rate of interest 8% per annum
is Rs. 600. The compound interest for 2 years at the same rate of interest for the same
amount P is

(1) Rs. 1,248 (2) Rs. 1,428 (3) Rs. 1,644 (4) Rs. 1,648
a8 Bngo P 8% $& Tews® a8 Hod8y07d8 $D)0 SIEBE 6. 600. ©T Bngo
P % oT Twod 2 Doddyorod® $Ty S(ESE

(1) . 1,248 (2) 8. 1,428 (3) . 1,644 4) &x. 1,648

44.

The ratio of the ages of Ramu and Gopi three years ago was 4 : 3 and two years later it
will be 5 : 4. The sum of their present ages is

3 Jodgyore (80 ordw, %o Hosboo Qa8 4 : 3, Tods Doddyoro S
®d 5 4 oPEod. IO (DN o Bngo
(1) 41 (2) 43 (3) 45 (4) 48

45.

Three containers have their volumes in the ratio 3 : 4 : 5. The containers are filled with the
mixture of milk and water. The containers have milk and water in the ratio 4 : 1, 3 : 1 and
5 : 2 respectively. The contents of these three mixtures are poured into a fourth container.
The ratio of milk and water in the fourth container is

Qardy F(Eo PIVOIrEro AVYE 3 1 4 1 5. & rEod o HOdw» Qe
W(F5008 Jordr. @ FESI oo, Q¢ VR B0 DD 4 1, 3 1 1 Ho035»
51 2. 8 Soedko 31’@5&)@%20 W(FIrOQ Jreaid 51’@“’5% FIF. P d @Léeﬁ’sb FoploV
$00050 ¢ SRS

(1) 4:1 (2) 151 :48 (3) 157 :53 4 5:3

46.

If three numbers are in the ratio 3 : 4 : 5 such that the sum of their cubes is 1728, then the
cube of the middle number is

Hords Dopge Pz Bndo 1728 eThghwom ad) Dopge D)8 3145 wond
éocﬁg Yoospg T0E) PJDR
(1) 216 2) 512 3) 256 4) 128




47.

The electricity bill of a certain establishment is partly fixed and partly varies with the
number of units of electricity consumed. In a certain month when 540 units are consumed,
the bill is Rs. 1,800. In another month the consumed units are 620 and the bill is Rs. 2,040.
If 500 units of electricity is consumed in a month, the bill for that month is

(1) Rs. 1,560 (2) Rs. 1,600 (3) Rs. 1,620 (4) Rs. 1,680

a8 argard DoPH WnEy Jdgs Do ar§Fomr Yo, §EOM JITrAOVS Jdogs
FBord@d & Jrdedr wokood. & Jos® 540 T300°® DI T8 SO Ded
8. 1,800. $8°8 TJo&® 620 corde T8 HDYS Do 8. 2,040, of Jod®
500 050rdg0 IITrAoDIDG ST Sgd Deo

(1) &. 1,560 (2) &. 1,600 (3) & 1,620 (4) &. 1,680

48.

6 labourers can build a wall in 10 days. How many labourers of double the efficiency are
needed to build 3 such walls in 5 days ?

6 B DI 2 g 10 Swrod® Sodod. 208 TEop Fdoggo wdy
Do) vwodod 3 Fdod 5 Swrod® §4ad8 doddh 525°d?

(1) 36 (2) 18 (3) 20 4) 16

49.

There are 100 students in a class. Number of boys is 10 more than the number of girls. The
average weight of boys is 50 kg and average weight of the whole class is 45.5 kg. The
average weight of girls is (in kg)

ud S3KBS® 100 o008 3)(3"5%50@0 &) 8. wrend foos;pg ord¥o K)oagg 08 10
D& D, erend v K 50 8. SEHBSD Dorgdroodd Dk Koy 455 &.on
@80 Dby P (8. (Tros®)

(1) 40 (2) 45 (3) 50 (4) 52

50.

In a team of eleven, the average age of eleven players is 28 years. What is the age of the
captain ?

I.  The captain is eleven years older than the youngest player.

II. The average age of 10 players, other than the captain is 27.3 years.

Choose the correct answer

(1) I alone gives the answer but not II (2) I alone gives the answer but not I
(3) I & II both are required for the answer (4) Iand Il both together can not give the answer
11 &ood Ho 23(?3@5’5, 11 So0d @éom@é@ D HA%Do 28 DodEyored. wEo FABHE
Sosowoé?

L 23%)0@5”320 ©8 DI) H0H do sbMd 08 ok 11 dodEyoren DG.

I[I. Secs8doseE, NAdS D& Hood e:séam@;f@ dfén Hodo 27.3 JodEyoren.
2B VIrerdo Jowosod

(H1 &éa_@ DB ddrgrdo adnod, [T adgds (2)11 a;ézrﬁ DB DIrprdo *0d, [ adgdd
B) I &I Todr DIreards wdHEDo 4) LIl Todor £€d2a°, ddraedo aésé@




Read the following data and answer Questions 51, 52, and 53 :
Out of a total of 35 students, 16 want to study French, 16 want to study Sanskrit and 11
want to study Telugu. 5 want to study both French and Telugu, and of these three want to
study Sanskrit as well. 5 want to study only Telugu and 8 want to study only Sanskrit.

Bod deroddan Waw 51, 52, 53 (B3 oH =arddg0d :
Sngo 35 Hood 8)6"5%50665 16 008 (o, 16 Ho0d Dod) yEH0 H00dSn 11 Hood
Boory BEoDHT 0T 8. 5 8 (Pow H0» Sty Todr FSrol, 20
dfads Doy yEo Erae HSTO ®dootoa 8. 5 Ko Beo ér@éﬁo IaEuICH)
29183"53, 8 dood Dody ydo aérLéTago EICESIV R SESIOTEN A (oS )

51. Match the following :

List-I List-II
(Choice of Languages) (No. of Students)
(a) Only French and Sanskrit i 2
(b) All French, Sanskrit and Telugu (i) 1
(c) Only French and Telugu (iii) 4
(d) Only Sanskrit and Telugu (iv) 3
Bod B =EDILod
eI eI
(FPRY AEen) (Rargdow domg)
(@) (oD $005n Dod) o Ir(EDo (1) 2.
(b) (oD, VoY ydo HOB» Swaih @‘{)l (i) 1
(€) (%oD Ho0TB» Beory (S (iii) 4
(d) D0dp ydo Hodasw B S0 (S o (iv) 3

(@ (b () @
() @i  Gv) (@O ()
2) Gi) @O G ()
() Gv) @) G ()
4 ) (@O G aGv)




52. Which one of the following statements is not correct ?

(a) 10 students want to study at least two of the three languages

(b) 5 students do not want to study any of the three languages

(c) 4 students want to study all the three languages

(d) 7 students want to study only French

(Bo& ad)d (DHSTros® 28 HDOSE?

(@) 10 Ho08 Dmggaw 3 rhes® £D%0 ToB0oBIT) WETOJK0e0T 8
(b) 5 > dargoen Hordkd rhod® D& Free ISorodestHdo B

(c) 4 %8 Dmggom Qarrey g @ WBIR B HoH0E 00T 8>

(d) 7 &8 Dmg%ﬁow (oD SrEo DISERSESICIGL Yo S

(1) (a) (2) (b) (3) (¢ 4) (d)

53.

Read the following statements :

(a) 30 students want to study at least one of the three languages

(b) 20 students want to study only one of the three languages

(c) 2 students want to study only the two languages Sanskrit and Telugu
The correct answer is

(1) (a) is correct but (b) and (c) are wrong

(2) (a), (b) and (c) all are correct

(3) (a) and (b) are correct but (c) is wrong

(4) (a) and (c) are correct but (b) is wrong

Bod (ddVrod WSH0s

(a) 30 Ho0d Qargdooo BTl rhos® £d%o PR~ VES ISR TAEVI SESCESISI RN (o8
(b) 20 %008 Z)mgéo@o HrEo8S” wg) ol IrED ISreoLg oL 8

() agd 3)(3"56@53@3 ‘Yooc“ozrgéo %2005 Bwad> Bo&oB Hr (& VSO0 00°) 8
DOOBPS DIrGrId0

(1) (a) $3BIT 570 (b) L0FB» (€) 205D

(2) (a), (b) 000w (c) Lok HTIS

(3) (a) 0005 (b) DTIS 52 (c) D5

(4) (a) H50B0 (c) HBIX 522 (b) Do




The number in the figures in Questions 54, 55 follow a pattern. Find the number in
the place marked (?).

Bod ad)d 54, 55 (B¥)0 Hei0es® Jopgwr af EHDEBS® sIryon. (?) RES S 3T
&oapg 52605’8&0&.

3113 7158 5141 7189
4. 1H s 3 | 40 419 5139
(H 9 (2) 8 3) 7 4) 6
418 6|12 12 | 36 7120
55. 1212 2] 3 3|4 205
(1) 16 2) 8 (3) 10 “4) 2
56. A silver cuboid of dimensions 5.5 cms x 5 cm x 4.2 cms is melted to form circular coins

of diameter 1.75 cms and thickness 4 mm. Then the number of coins made from the silver
metal is (Take m = 22/7)

55cms X 5cm x 4.2 cms Sodwo o 2.8 J08& ég Do) Eohow 1.75 cms &g
$005» 4mm  H0d5n Ho HHoesd TBos S0t B, wdpd Fod SEro
3008 S3rTS B dopg (1 =22/7 & 8%08%08)

(1) 120 (2) 80 (3) 60 4) 12

57.

A rectangular field has its breadth and length in the ratio 4 : 5. If the breadth of the field
is 20 m less than the length, then the perimeter of the field in m is
<‘5g S8 s 0S® &) wf Podn V) Jhooy, Fdod 4 15 3&;@&3‘3 o).

¥ Podn V) Jdooy PEH 7)) 20 m S S &26;55, & PoHN W) Koo
Fod d.od

(1) 240 2) 300 (3) 360 (4) 540

58.

The numbers in the following figures follow a pattern. Using this information, find the
number in the place marked (?) in Questions 58, 59 and 60.

Bod adyd HeHNeS® Hopges af [ERDEBS® sIjon. & SHTTEHR ¢LTBrAD, (BHHw
58, 59, 60os® (?) LN Ste 253}3 Sowgdo §260§62roc%.

1 3 4
e @ G
8 8 5
4

6 3

2
(1) 26 (2) 28 (3) 30 4) 32




59. @
41
5
(1 3 (2) 4 (3) 5 4) 6
60. 12
1
;1212
@
1) 2 2 El 3 L 4) 1
() @ 3 3 5 4)
61. Consider the following statements

(a) Any two similar figures are equal

(b) Two circles with radii 4 cm and 5 cms are similar

(c) A square and a rhombus are similar

(d) An equilateral triangle of side 3 cms is similar to an equilateral triangle of side 4 cms

Which of the above statement/s is/are correct ?

(1) (a) and (c) (2) (b) and (d)

(3) (a), (b) and (c) (4) (a) only

Ss (808 (DdWarod H0R8D0$0d

(a) @ Tok VErH DErBo VIHFrI0M Gowron

(b) 4 =vo.o 5"53‘%@5533 $00050 5 o.a0e a"s@"géoa Jo Todks Hysreo HIrI e

(€) FSFDHooe, D IS edn DEraren

(d) 3 oo hadnw Ko K;eéow’%ro (Bgh=dn, 4 200.00 Fozdo do DdHerdeo
(8808 DETH B0

D (5SS DB/ DTIL?

(1) (a) L0005 (c) (2) (b) H00030 (d)

(3) (a), (b) 200050 (c) (4) (a) 28,8




62.

Match the following

(a) Mahalanobis (i) oo

(b) Srinivasa Ramanujan (i1) First Indian Satellite

(c) Bhaskara (iii) Number Theory

(d) Aryabhatta (iv) Indian Statistical Institute

(Bod &8 =LErENod

(a) 050D (1) oo

(b) A0 ordrdoes (1) BoodE grdd & fTro

(€) )9 (iii) Soarg G 9d»

(d) edgafe (Iv) 2oQ0S FrBERES adPergd

@ (b)) () (@
() @Gv) G (@) ()
(2) Gy Gv) (D) (@)
() @G G Gv) @
4) @© G @G (1v)

63.

16 '
x+16)2 * If
(i) x#-16, and (i) x> + 32x = 320

What is the value of

16
) x #-16, $5805» (i) x> + 32x = 320 wonE 7. 1,0 Qod dod?
(x+16)
) 36 2 — 3 — H —
(0 ()576 ()320 ()36

64.

The area of a rectangle is 60 sq. units. If the length and breadth are reduced respectively
by 6 units and 2 units, it becomes a square. Then the area of the square (in sq. units) is

¥ 5g SEIRD) IJFogo 60 BEIH Bardew. ol FER, JEoyod HEIC
6 OSJJ";D@J D000 2 SBorddo é@‘fg ®0 a8 BSG(DDE0H. WD Pk & BSG(DD
BToghn (JEEH HBrdys®)

(1) 4 2) 9 3) 16 (4) 36




65.

Consider the following statements

(a) The higher the sun is in the sky, the shortest the shadow of an object on the earth
(b) The shortest shadow of an object occurs at local noon

(c) On the new moon day, the sun and the moon are on either side of the earth
Which of the statements given above is/are correct ?

(1) (a) and (b) (2) (a) and (c)

(3) (a), (b) and (c) (4) Only (b)

Bod aW)d (dIITrod H0R8D0B0d

(a) @540 drdgds dod IHS od, N ¥ SWH I wod DIy
OO

(b) 28 0D 08 D) ¢ o (Fody MG Hgrgir)os® Dkdod
(€) odrardg rdy Vordagks, Wo(dady FPradd BVEE IPS wowrdd
DO 00 (DIVT0S 6/2D DTID?

(1) (a) $28050 (b) (2) (a) H280520 (c)

(3) (a), (b) 28030 (¢) (4) (b) 28T

66.

The area (in sq. units) of the polygon whose vertices are (0,0), (4,0), (4,4), (2,2) and (0,3) is
(0,0), (4,0), (4,4), (2,2) H26050 (0,3)en %g"ooﬁ" 6d)  roghe FTogo ($EEY WDQ@S’S)
(1) 11 2) 14 3) 22 4) 30

67.

A circus tent is in the form of a circular cylinder surmounted by a cone. The diameter of
the cylinder is 8 meters. The height of the vertex of the cone from the ground is 15 meters
and the height of the cylinder is 12 meters. The area of the canvas required to cover the tent
is (in square meters)

g DGR Mardo fg?iaoio F05HDH ), ssedos® SINRYAP :“griao Vg aegoLdw
8 Do. P Hood FoHD %go Vog) & 15 Do, DB A» Qrdo D&y 12 Q. Bwdo
Haod) SHPLH 5EHThy TS W) Brogo (5.0.08%

(1) 144 = 2) 116 n 3) 9% n (4) 64m
68. The next term of the sequence 1, 3, 4, 8, 15, 27, is
1, 3, 4, 8, 15, 27, ©H (B0 EHad Doyg

(1) 37 (2) 44 (3) 50 4) 55




69.

Five girls are sitting on a bench for a photograph. Seema is to the left of Rani and to the
right of Bindu. Mary is to the right of Rani. Reeta is between Rani and Mary. Who is in
the middle of the photograph ?

(1) Rani (2) Mary (3) Reeta (4) Bindu

8025005080 @éﬁ&owm et §%%o o O Erdar)do. ored8 D (D, Dodod
HA (958 DB ©0d. B8 HA (HE8 Fb wod. ored8 Too8 Hggd e &od.
T DoggS® @ b D82

(1) o3 (2) 36 (3) der (4) Dok

70.

Fill in the blank :
eodd Hrdotod :
CG:HL:: KO:
(1) QV (2) PT (3) RV (4) VT

In each of the Questions 71—76, pick the odd number out (does not match).
71-76 %88 (H¥ ot Lo Sopgd (o008aH%.

71. (1) 282 (2) 364 (3) 4168 (4) 6248
72. (1) 1285 (2) 2213 (3) 3074 (4) 4172
73. (1) 1339 (2) 2665 (3) 3991 (4) 4223
74. (1) 11 (2) 246 (3) 327 (4) 464
75. (1) 5 2) 12 (3) 25 4) 36
76. (1) 81 (2) 441 (3) 529 4) 613

In each of the Questions 77 to 82, a sequence of numbers that follow a definite pattern
is given. Each question has a blank space. Fill it by the correct answer from the four
given options to complete the sequence without breaking the pattern.

77 %208 82 $8L do ($8 (PH)S°%0 adyd dopgwr w¥ EH SFoD VDTV ;ET° )00,
(B8 (B%)S%0 &d) PO el N0NrA8 Fodo fodom adyd el Bl FPe He0d
H0TRS war 98° Hrootod. |

77. 5, 11, 28, 53, , 175, 296

(1) 89 (2) 123 (3) 126 4) 152
78. 7,6, 11, 13, 15, 20, 19, 27, 23,

(1) 27 (2) 34 (3) 36 4) 37
79. 4, 10, 18, 28, 40, , 70, 88.

(1) 36 (2) 44 3) 54 (4) 64




80. 21, , 55, 78, 105, 136.

(1) 36 ) 38 (3) 42 4) 45
81. 3,7, 13, 21, 31, , 57, 73.

(1) 39 (2) 43 (3) 49 4) 53
82. 24, 60, 120, 210, , 504, 720.

(1) 226 (2) 306 (3) 336 4) 420

83.

In the Questions 83 to 87, the sequence of English alphabets and the corresponding
numbers 1 to 26, follow a certain pattern. Fill in the blank space in each question with
the correct answer from the four given options without breaking the pattern.

83 [o0& 87 REH anyd @a%‘l@cﬁ's so wEorwo H8d5n EEyo 08 Z:oa;gen 1 Jo0d 26
RO, af [E0 @S AChIT) FElTT 00, (08 B%)S® @) O, wdoEde ABITI8
Foddw ForHoae, adyd Jrwoily 2RO PHo0d B8N wa” o8& %rootod.

If VEDA’s birthday is on 22-5-41, thén RAGA'’s birthday is on

VEDA Hgs & 22-5-41 wond, RAGA HES &e

(1) 17-1-71 (2) 18-11-51 (3) 18-1-71 (4) 19-1-61

84.

If AZEV : FUJQ, then BYFU :

AZEV : FUIQ wo»€, edypds BYFU : .
(1) GKTP (2) GTKP (3) GTPK (4) PTKG

85.

If AKBAR : 15, then ANWAR : .
AKBAR : 15 ®o»nS, @Xao)acéo ANWAR : .
(H 11 2) 19 3 17 4) 21

86.

If ICET : 73, then HBDP :
ICET : 73 wons, @Xao)acéo HBDP : .
(1) 64 (2) 34 (3) 48 4) 54

87.

If FACT : 54, then TAKE : .
FACT : 54 woxns, @ésacéo TAKE : .
(1) 35 (2) 46 (3) 68 4) 82




88.

In questions 88—92.

In a certain code of the word ‘SAINT’ is coded as 82147 and the word ‘MONKEY’ as

364950. Write the code for the following words using the conditions given below :

(i) If any code ends with ‘0’ change ‘0’ to 9

(i1) If no match is found use X

(i1i) If the first digit is ‘0’ replace it by 1

(iv) If both the first and last digits are equal numbers, # 0 and # 2, then change the first
digit to 2

¥ o0 88 J00& 92 S8,

o8 §&S° ‘SAINT’ o3 Hdo 82147 mdo, ‘MONKEY’ o3 Hdo 364950 mde §°6

Dok 83 ol adyd adHhods errdomr BHER aMd Soredh §& [°dd :

(i) o 8633 VIS 0 oW, & 07 D 9 o IrdHod

(i) 0036 26 BEE X °¢0d
(iii) &S @03 0 wond od FI0s” 1 Eod

(Iv) B0cse3 Ho005» WVH0 woBowo, e sE 2 5% TT Ddrddn @ond dopgen
®ond, BudE ©03 §&DH 200 Hr8yod

The code for the word INMATES is

INMATES o3 $do T3 §°&
(1) 1342578 (2) 1347258 (3) 1432758 (4) 1432578

89.

The code for the word YESTERDAY is
YESTERDAY o3 $Hdo [SSEEEpE §°&
(1) 15875XX29 (2) 15875XX21 (3) 05875XX20 (4) 15857XX29

90.

The code for the word STALKINGS is
STALKINGS o3 $Hdo aw§zr )
(1) 872X914X8 (2) 87X2914X8 (3) 272X914X8 (4) 272X194X8

91.

The code for the word MONASTERY 1is
MONASTERY o3 %do &w§zf &
(1) 3642875X9 (2) 36248750X (3) 3642785X0 (4) 3642857X2

92.

The code for the word ASTEROIDS is
ASTEROIDS o3 $d8o T30y, §°&
(1) 1875X61X8 (2) 2875X61X8 (3) 3875X61X8 (4) 278X561X8




93.

A motor car starts with a speed of 70 kmph with its speed increasing for every two hours
by 10 kmph. The time taken to cover 360 kms is

(1) 4 hours 20 minutes (2) 4 hours 30 minutes

(3) 4 hours 40 minutes (4) 4 hours 50 minutes

a8 Jrerd 576 70 8/tfo FH08 INET (98 Tod Kowedr 10 8d/Ho Jmy
200%0008. & 585E 360 8. Bror) (Dodredfodws Xﬂg D000

(1) 4 oo 20 Joreo (2) 4 Koo 30 Jdoaren

(3) 4 Hovo 40 Jddoren (4) 4 Koo 50 Jddoaren

94.

AB is a straight line. An insect starts from A and moves vertically up through 4 cms and
then horizontally towards right through 3 cms and again vertically up through 2 cms and
horizontally towards right through 2 cms and finally vertically down to reach B. Then the
area of the figure formed (in sq. cms) is

AB 2.8 H3¥ Ty, a8 DS A 008 00T &g gdnpom D8 4 =00.0000 £89,
éo@@ HBY §Be vdrodomr 3 Do.wr 6O éo@@ 8 &g gSpon 2 200.2000
60, 808 %ABY §i= dIrogdomr 2 o.deo 6O DIEm 8008 w&lwwonr
$80 B Jsoa. SRR Dda? DOY JFTogHN (FIED 0.0

(1) 24 (2) 26 (3) 30 (4) 144

9s.

A person walks 40 m in the North-East direction and turns 90° to his left and walks 40 m.
Then, he walks 4(,/2 m towards south. Then, the distance between the starting point and
the last point is (in meters)

w8 $g 8 Sardg 0Fd 40 . ErEHn IAV, S5 AEB Y 90° 86A 40 Qo SrSHo
S0, DKk S OIS 4042 Do. SrEd0 Sy, S&E (Fr¥oPoNd DodR),
S8E Hro Bd DodidHo HGgg drddw (.o

(1) 0 (2) 60 3) 60v2 (4) 8042

96.

A person walks in the given directions as follows

(i) 60 m to East ; (ii) then 80 m to South; (iii) then 120 m to West; (iv) then 30 m to North
and (v) then 60 m to East. The distance between the starting point and the last point is
(in meters)

2¥ $g8 (8308 adyd 0¥ oS STk

(i) 8580y 64S® 60 2.5 (i) SSoTd S FS® 80 Qo (iil) e DEBE &S 120 Do
(iv) $£090 ad8 &4S° 30 Q. H8d%w» (V) wdosdo B8y 84s® 60 do. S oo,
@85 SEE (FEoDoDD Do), IEE Hro DRd odhHo HHgy SrdHm (.o
(1) 30 (2) 50 (3) 60 (4) 120




97. A person walks 250 m towards East, then walks 50 m towards North, then walks 300 m
towards West. The distance between the starting point and the last point is (in meters)
a8 Hg8 Srdoy &%s® 250 . L&BJ%, @DYPd wEY &8%s® 50 . oo,
O YPE DEHY &4S* 300 . SBoFd. @Sl I&E (@EoDoDI Dodod), $dE Hro
TR DodHe Hgg SrdHn (.08

(1) 30 () 6042 (3) 10072 4) 5042

98. A person facing East moves 30 m towards East and then moves a distance of 40 m towards
South and then moves 60 m towards West. How far is he from the initial point in m
ErdosH wddopomr wd) HgE Erdy oy 30 i)oéago S&orE Sfwo IPH
40 oo HED D DENE 3R 60 Q.o HETB. B DoY) H0d wSBo
Er80S® Garyde (.08
(1) 50 (2) 60 3) 70 (4) 130

99. Find the missing number in the sequence 120, 99, 80, 63, 48, ?

120, 99, 80, 63, 48, ? &3 @260@'2600@3‘3 S*RoDD foosgg;éo EoA" 0000
(1) 35 (2) 38 3) 39 4) 40

100. Find the next term in the sequence 589654237, 89654237, 8965423, 965423, ?
589654237, 89654237, 8965423, 965423, ? @3 o500’ Sdhard Do ézéoé’szroé’g
(1) 96542 (2) 65423 (3) 96543 (4) 65234

101. What is the function of Plasma cells ?

(1) Antibodies formation (2) Storage of fats
(3) Storage of proteins (4) Vasodilation
Py 80 G QeI ?

(1) (8 Igscelo Ddgd@iﬁoé& (2) FHgo Qog
(3) (@*&de deog (4) >¥FBIAS

102. Which one of the following is not correctly matched ?
(1) Vitamin B, — Beriberi (2) Vitamin B, — Pellagra
(3) Vitamin B, — Loss of appetite (4) Vitamin B, — Pernicious anaemia
St (300 mdos® B HOTHIO 5%

(1) oS B, — 2038 (2) doDS B, — Do
(3) VoWS B, — ©¥d Hodhotdo 4) DeNd Blz—_“o:égj’ooﬁoﬁ EET 8




103. Read the following statements

(a) Acidrain is caused when sulphur dioxide (SO,) and nitrogen dioxide (NO,) in environment
reacts with water molecules in the air.

(b) The farthest atmospheric layer is thermosphere.

(c) Western Himalayas are biodiversity ‘hotspots’.

(1) (a)is correct but (b) and (c) are wrong

(2) (a) and (c) are correct but (b) is wrong

(3) (b) and (c) are correct but (a) is wrong

(4) All (a), (b), (c) are correct

& (800 (DdVTrod wgohvo Tobhod

(a) TodE0wod’ Jo3b BwE )& (80,) $0d» FE°=S TeE )& (NO) mds™
N8 wmHod® I8 BodIPE ‘wBy oo’ HdIomn.

(b) odgod &rdone &0W Terddn Y C;SSSQJ?Q(‘Doﬁog

(c) 9B)% Wrdrodires OIS HEFYE oo

(1) (a) 2003056 520 (b) H00d80 (€) DO 570

(2) (a) H00Bn (c) VO8I 52 (b) HOIE s

(3) (b) £9005» (c) VOTNID 52 (a) DOOPIL 57

(4) (a), (b), (c) ®) LOTHID

104. Match the following

List-1 List-IT

(a) Methane (1) Knock-knee syndrome
(b) Phosphates (i1) Global warming

(c) Freons (iii)) Bloom formation in lakes
(d) Fluorides (iv) Down syndrome

(v) Ozone depletion
Ss (800 a8 2BDIL0d

eI erda-11

(a) DTS (i) =5-9 2o&

(b) Foydeo (i) 6° & =0 0h

(c) (PFBrSen (iii) vy & Ho0xd (bloom) SEyEw0
(d) 3Ee (iv) &5 o8

(V) &8 oo

The correct answer is
HOONS ddrrerdo

(@ (b () (@
(1) @Gv) @) (v) (i)
(2) @) (@) () @
(3) @@ @) (v) (@)
@ (v @) @) @




105.

The correct sequence of states in which Bandipur, Manas and Pench Tiger Reserves are located

(1) Bihar, Assam, Maharashtra (2) Karnataka, Madhya Pradesh, Rajasthan

(3) Madhya Pradesh, Maharashtra, Tamil Nadu (4) Karnataka, Assam, Madhya Pradesh
08Pl Lrard 000 DoB DO wPirdergodn ZOAMN) orar9w DOOND (E0Y

(1) D538, oo, HoFFoRY (2) Eoryo¥, HEgHTE, e
3) éo@ﬁg@a?ﬁ%, HTPorR Y, SNF I (4) Zom©E, «d®yo. éoég@)é%
106. Identify the correct statements

(a) Magnetic force does ‘no work’.

(b) Electrostatic charges generate magnetic field.

(c) Ifthe lines of magnetic force are parallel then magnetic field is uniform.
(d) Uniform magnetic field is conservative.

DTS DdTeven Hdokod

(a) ©chdpod oo DIV .

(b) %9 DogorBEdne Hod wdhIpod F (S50 838 widd.

() ©0%d) 08 © Tpw JDIroSEFS ©ar)od 3 (Fdw 28688° wodole.
(d) 2868 wohdpod F (BHn g8 T80,

(1 (@), () (2) (@), (), (d () (a), (b), () 4 (b),(c)

107.

What physical property of the following uses non-destructive evaluation experiment to image
defects in materials ?

(1) Sound (2) Heat (3) Electrical (4) Magnetic

&3 (8od Q T8 (’,50"’%:03: Lcﬁzéséweé's o Sarod LKD@&‘DO?‘DO?D'; WITFE Jevden éésg"zﬁ
(DT L0S® TS S ?

(1) $g (2) &9 d» (3) Dog& (4) edbryod

108.

Identify the correct statements

(a) Sound waves and ultrasonic waves are longitudinal mechanical waves.

(b) Sound waves are longitudinal mechanical waves and electromagnetic waves are transverse
mechanical waves.

(c) Sound waves are longitudinal mechanical waves and ultrasonic waves are transverse
mechanical waves.

(d) Electromagnetic waves are transverse waves.

(1) (a), (b) only (2) (@), (b),(c)only (3) (a),(d)only (4) (a)only

D3BO DdTeven Hdokod

(a) $g0 SFomred H0BN WBFID SSomred @3 gs 050 (88 SJomren.

(b) &g Eomrey B gg FBro(@88 Lomey HOWBN DSBSy 0E EFomres
88g8 Sro(@¥ dJomen.

() &30 SSomrew w3 gg FBro(@F Lomey HOWBN @& GV SSomen 8¢S
5o (88 EJomen.

(d) dSogdcsodryod Some 8IgE SFomon.

) @ 03=ED Q) @.0),QrED () @, ([)ErED @) () rEd




109. Match the following :

List-1 List-I1
(a) Mercury thermometer (i) -200 °C to 1600 °C
(b) Platinum Resistance thermometer (i) —200 °C to 500 °C
(c) Thermocouple thermometer (ii1) =200 °C to 1200 °C

(d) Constant Volume Hydrogen gas thermometer (iv) =30 °Cto 350 °C
Bod o8I 2SBNLod :

a1 eIl
(a) 8oy g0 e (A JHrHEd» (1) —200°C 00& 1600 °C $8%
(b) PS50 IE°FE PHE SrHEDw (i1)) —200 °C o0& 500 °C 8%
(€) &R BaiyHn eF(HE HrHsdn (ii1) — 200 °C So0& 1200 °C $8%
(d) 6 PoIDOIre e (BPeS @eaind) (iv) —30°C %o0& 350 °C $8%

GHS SrDHED0

@ b (© (@
(H @ G) (Gv) (i)
2) ) @) Gv) @)
(G) @) Gv) () @)
4) (v) (@) O (@)

110. Metal ion present in Vitamin B, is
DeWS B, Ho &' wdirs

(1) Fe* 2) Cr* (3) Co* 4) Mg

111. The irritant red haze of the eyes in the traffic and congested places is due to
(1) Butane (2) Dust (3) Oxides of Nitrogen (4) Methane

("8 wOED0M &Y 00w w2IDMIo BB &) (88000 @8?@@3’6 é@?éo@ X008
@
QBT @A s°Ew0

(D 05'@35 2) @ (3) 3&*=s w3 6o (4) DB




112. Which one of the following is a polyester fibre ?

(1) Bakelite (2) Polystyrene (3) Nylon-6,6 (4) Terylene
(Bod TES® rOTHHE b 02
(1) Bg8& 2) &@%@:85 (3) So°-6.6 (4) ®OOS

113. Identify the statements from the following which are not correct ?

(a)
(b)
(©)
(d)

Lactic acid is an antiseptic
Chloramphenicol is an antibiotic
Sucrolase is an antimicrobial

Analgin is a tranquiliser

Bod S DOOHI DT 570 &8 ?b_@poiﬁoc%.

(a)
(b)
(c)
(d)
(1)

or85 edo ¥ Bro81RE
58809 a8 dsrod BordE
20ETE a8 BrodB§TDNS
QOS ¥ (ro8g Bwb

(a), (b), (d) (2) (a),(c),(d) (3) (@), (b), (c) 4 (b), (c), (d)

114. Read the following statements

(2)

(b)
(©)
(1)
)

Carbohydrates synthesized in the leaves are translocated to other parts of the plant through
Xylem.

Recombinant DNA is also known as chimaeric DNA.

Programmed cell death is known as ‘apoptosis’.

(a) and (b) are correct (2) (b)and (c) are correct
Only (a) correct (4) All (a), (b), (c) are correct

& (800 (DoHUTrod eFgahdo Bohod

(a)

(b)
(c)
(1)
)

HErod® HoFRSHTDg 8 T ([@Ew I, adY Prrod ThY) Tgoe FT0SEH0
Todosrow

DIdoBrus DNA S $5005 DNA ol Ere wodrdd

(Ber®s Forr Sered SIVI@E) oTDE VY woerdd

(a) %0050 (b) $0 T35 (2) (b) £00050 (c) H0THH
(a) H(BD HOTHH 4) (a), (b), (c) ®) H0THBI




115. Read the following statements concerning smoking and identify the wrong one
(1) Nicotine inhibits the functioning of adrenal gland
(2) Smoking causes emphysema
(3) Smoking increases ‘CO’ levels and reduces O, levels in the blood
(4) Adrenal medullary hormones increase the B.P. and heart beat
PR(@ DO S0 050D S (5od (DHUTOD ©EgahSo T2 HO5° A %8050
(1) @IS (fod D dgrardy DEPES 6°90d
(2) Hehdo do Q0P S EENSRTSS
(3) &deddo So 8o0s® ‘CO’ Ho%rmo 0A 0, $dJrwmo Sdodo
(4) @SS SgHs8ydoen E DAY, H0T 8T Trd) Wodbsrow

116. Match the following
List—I List—II

(a) Rajoliband Diversion Scheme (i) Karimnagar

(i1)) Adilabad

(iii) Mahabubnagar

(iv) Nizamabad

(b) Sriram Sagar Dam
(c) Lower Manair Dam

(d) Kadam Reservoir

2 S HYBodn
a1 Al B

(a) ovefeo  od H09yod dELo (i) 880346
(b) $oro 36 @& (i) wooersd
(c) &°0%86 $36 e (iii) Ho&e SHKE
(d) £Bo deovgosd (iv) derdrerd

(a) (b) (c) (d)
1 @ (i) @) ()
(2) @) (1) (1) (i1)
()  Gv) @) (i) (1)
4 @) @Gv) (D) (1)




117.

Consider the following

(i) Right to Education Act makes education a Fundamental Right

(i) Right to Education Act was passed in the year 2009

(iii) Right to Education Act assured free and compulsory education to the children between
years 6-14

Which of the statements given above is/are correct ?

(1) (i) and Gii) ) (i)and (i)  (3) ()andGii) @) (). Gi)and (iii)

(Bod srsegoin H0RO0EID

(1) Qdarg ) Fho A8gI0 (FEE TH o (DESoV0d

(i) dorg %) Fwo 2009 HoHEFHNS' ©FrooT 8

(iii) 6-14 S0d8Yor0d® &Y DYLoLOS VS HI0 5w QB0 ISy margod darg
&y BHo (DEGoV0D

D 5ot d8/9D H3TI

(1) (1) Hod0% (ii) (2) (i) H080%n (iil)
(3) (1) Hob0%x (iil) 4) (i), (i1) LHo0060%» (iii)
118. Minimum duration of stay in India before applying for Indian citizenship is

(1) 3years (2) Syears (3) 6years (4) 7years
TR0 gPES P EHS0 EEEH Sy BAHNGEH H000h PTrEETH0S® I DoHSYEHweo
AD20V &oddTLo.

(1) 3 Jod&yore (2) 5 JodEyorew (3) 6 Vodsyoren (4) T DodIyorew
119. Which state government has launched a scheme titled ‘Ashray’ to save girl child ? What is

the main aim of the scheme ?

(1) Uttar Pradesh  : Providing 200 crores to save girl child

(2) Madhya Pradesh : Providing food and clothes to girl child

(3) Rajasthan : Government to place specially designed cradles in 65 state hospitals
for the safe abandoning of girl child

(4) Haryana : The government to place specially designed cradles in all state
hospitals

‘B DY V088 F§oWrnEH & TPR90 YHED Bl DELol (HTIVFoL. T (Heed
oggo Q3 2

(1) &g (5TF  : @i Dood §owkhdd 8r. 200 59l Sewronodod
(2) Hogg (HTF @ od Doodh o, eFFod) SDErEEo
(3) o=IS ol Dood NEELom XD DHLEIE 65 (Dghdg sd(Brod®

(HEgEom D030 &Y &ohoo Jooyeo
(4) Srorgs D o) (HghEg ed(Fod® (HTgEom D008 &S 0o Jor)io




120.

The Intellectual Property Appellate Board (IPAB) has ordered Chennai based ‘Geographical
Indication Registry (GIR)’ to issue ‘Geographical Indication’ tag for basmati rice, which is
applicable to 7 Indian states.

Which of the following is correct ?

(a) These seven states are in the Godavari river basin of India
(b) These seven states are in foothills of Himalayas

(c) These seven states are in North-East of India

(d) These seven states are in South India

(1) (a) only (2) (b) only (3) (a) and (d) (4) (a) and (c¢)
B8 Vo 0§ ¥ o ©9)BE &°5 (IPAB) vy (95780 TI ¥ Tood 2TWrHDES
ao&éﬁSQ 88%89 (GIR) o D0H w08 DsgosHs BT/ PES B0BTAS @b
%008 Hn(Ed0 Db, & HHE FrETIoSN T orargefr $8%00

(8od &8S® D& deo

(a) & Ao oraP9eo BEPH0 DO E (FogoS® Son)

(b) & Ak orar9en WHTOBTY Fore Bod o

(c) & ko T°P9 @) eSS TFoS*D &éé—éﬁ*éso@ﬁ S0

(d) & Qo orar9eo 8 oSS THoS® Lo

(1) (a) S8 (2) (b) Sor($Fo (3) (a) H0005» (d) (4) (a) Ho6050 ()
121. Old name of State Bank of India is

(1) British Bank of India (2) Imperial Bank of India

(3) Federal Bank of India (4) East India Bank

RE 208 P R0QAIT HPrEgH W

(1) D&% ergof ©d vodair (2) 20%805S ergof ©d modadir

(3) »ESS wrgof ©d modasr (4) &2 mo&asor wrgol
122. NITI Ayog stands for

(1) National Institute for Technical Investigation
(2) National Income Transfer to Individuals
(3) National Institute for Transforming India

(4) National Intelligence Training Institute

NITI &T@rh &I “rA00s

(1) 3085 asyBergd $6 BEES as3RTIAS
(2) SQIS afES ()6 @0 208IETgHS)Y

(3) LSS asyBergd $6 (rSyFr030h wod sy
4) Sass 200OEI) B9V0oh aVSLIrgd




123. Nirmal Grama Puraskar is associated with which of the following ?
(1) Enlarging Forests (2) Expansion of Industries
(3) Rural Sanitation (4) Rural Electrification
DS (o HEF) B0 (300 BS° TIB Ho 05HoVIB
(1) odHo 20 (2) D/FHe 208
(3) (Ao FOHEgo (4) (o dSghES

124. Which of the States is not BIMARU State ?

(1) Bihar (2) Madhya Pradesh (3) West Bengal (4) Rajasthan
(Bo& =8¢® BIMARU or90 5706
(1) H538 (2) o83 (533 (3) ®3 D Borrd  (4) O'°23<§'°5

125. Who has won the 2016 William E. Colby Award for best military book ? What is the title
of the book ?

(1) Nisid Hazari —  Midnight Furies : The deadly legacy of India’s partition
(2) Logon Beirne —  Blood of tyrants

(3) Douglas Mastriano — A new Biography of the Hero of the Argonne

(4) Thomas McKenna —  Science and Technology in Military

wdogd Do Qowd (fogos aﬁa QOB0 v £ @mg 2016 20DBNEI0IE JH08
©DoD0d? @ PIEo DTMW.

(1) 528 Gred — & 3 Hrgot & BED BAD ©h n080Sr AT
(2) &°6°S BE) — & o5 Bod)

(3) $hed IrP9oHs — 2 drg TrED 9P § 98 uh & ©BAI

(4) D BT — Q) vo& Beyoz ad owd

126. An irregular occurring and complex series of climate change is called
(1) ElNino (2) Hurricane (3) Tornadoes (4) Low pressure
D08 R D, wdo 63@26 Trerd8en oo & (§od JFomr Do
(1) & dS° (2) 0388 3) &%6‘3‘55 (4) ooy DS S»




127. Which of the following is/are not correct ?
(a) First Five Year Plan — 1951-1956
(b) Third Five Year Plan — 1966-1971
(c) Sixth Five Year Plan — 1980-1985
(d) Tenth Five Year Plan — 2002-2007
Correct answer is

(1) (a)and (c) (2) (b)only (3) (c)only (4) (a)and (d)

& (300 TEgod® B/ EHY?

(a) Booses ‘éo%ég (D@5 sPodn — 1951-1956

(b) Sored ‘o’DOzﬁég (D@50 sPodn — 1966-1971

(c) &85 ‘éoﬁég (D@5 sPodn — 1980-1985

(d) &5 éoﬁég (D@50 sPod0 — 2002-2007

5TH HEFEHED

(1) (a) 9805 (c) Q) b srED () (©rED (@) (a) w00 (d)

128. Economic and Social planning is in

(1) Union list (2) State list

(3) Concurrent list (4) Residual powers
©08 O FEred (Herds whTorw Q DTS PoHHE TS
(1) So8 erder (2) g9 @rde

(3) ©dé =der (4) 0339 wdscorw

129. What is the correct descending order of foodgrain producing states ?
(1) Uttar Pradesh, Punjab and Madhya Pradesh
(2) Uttar Pradesh, Madhya Pradesh and West Bengal
(3) Punjab, Uttar Pradesh and Telangana
(4) Madhya Pradesh, Punjab and West Bengal
PEETHOS” B3 rargon HoBoBES® BIHYH (EW0S® (Ahd Dod) HodoT Trargeds
$Bosod
(1) sSSHTF, Dowrdd Ho0AWH Hogg(HB3F
(2) eSSHTT, 2606‘55@355 H0dB» DI B BomrS
(3) Howrd, ¢SSHTT LO0B» Boomrm
(4) $8g(HTF, Dowrd Ho0bn DI HBomrd

130. Which of the following Articles of the Constitution can not be suspended during the period of
National Emergency ?
(1) Art. 32 (2) Art. 21 (3) Art. 19 (4) Art. 15
B0 wSeHHY 5828 DPoDD 008" TPargofodtd O ©QESh vob Tohardd
QB
(1) ©§8d 32 (2) »g8d 21 (3) =985 19 (4) ©g8d 15




131.

The Indian member in Viceroy Legislative Council who resigned in protest against Rowlatt Bills
in 1919

(1) Tej Bahadur Sapru (2) B.D. Sukul

(3) M.R. Jayakar (4) GS. Kaparde

1919 “@oééséﬁoef’ o8& DdwodH és@‘ogéom BRrow FTHI00EO Dod ol BRI
rEBon Bebgth JHE?

(1) 8 &8 J&r (2) B.D. 058
(3) M.R. 2205886 (4) GS. 50T
132. Warren Hastings’ experiment of auctioning the right to collect revenue to the highest bidder is

almost similar to

(1) Poligar System of Vijayanagaras
(2) Igta System of Delhi Sultanate
(3) Jagir System of Mughals

(4) Izara System of Mughals

Frivod Joo IV, wdghiomr Joo rES TOT Do) Hdrer VD wHFEIw AT TES
Ir%0f DgrdEn O DgrdieD PO Gob.

(1) D038 orere scooad FBmY By
(2) 89 oerdoo sceodrd @5 AEddo

(3) Bodene stwoard A égéﬁg’

(4) Bodeno scooTE 1200 JEPID0

133.

Assertion (A) : Alauddin Khilji prohibited the sale and use of liquor in Delhi.
Reason (R) : He wanted to uphold religious and moral standards of people.
Answer is :

(1) (A) and (R) are true. (R) is the correct explanation of (A)

(2) (A) and (R) are true. (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

P8ISS (A) ¢ Ho8go (@) 0w @b sTod éfs@ NTefefeYok Son r%(éS ?‘DQ
QR oBlo.

80 (R) @ oo éc§5 5)&2 (Do BwE) I&E H0Bn Hog (DdIred0o B P.Se)cg
TH0F (D058 0T
DArcgrdo

(1) (A) %0050 (R) dzo (A) & (R) 90005 958

(2) (A) 20050 (R) dzo 520 (A) & (R) D003HS Jd8er s°¢%
(3) (A) dz=o 5= (R) by

(4) (A) 5y 570 (R) dzo




134.

Assertion (A) : The arrival of North Indian Sufis into the Deccan in the 14" and 15"
centuries brought deep changes in the political and religious fabric.

Reason (R) : g{ley came to justify Khilji and early Tughlaq invasions of the Deccan
ateau.
Answer is :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

BPOFSS (A) @ 14 $0050 15 for dwed® &d8 3s8T8 vr%H FdodHen SELS

(PO E D058 oSS0 Lo, B _@"oé ore28050 o hosdwodt
85 Jrdywr 2oFJoDdIow.

s¥edw (R) @ &%) 28D 08 DO H0H SO &hif§ SodosrEos J°g 0% %So

TIneTE ord rodes & (FosrdE HDyT.
DdrGedo
(1) (A) 08050 (R) dzo (R), (A) £ 000305 956
2) (A) £005 (R) Bodr o 523 (R), (A) & HOTHS DS 5
(3) (A) Q=0 57 (R) 8Dy
(4) (A) 8Dy 522 (R) dzo

135. Name the Delhi Sultan who called himself the ‘Shadow of God’.
(1) Balban (2) Alauddin Khilji
(3) Mohd. Bin Tughlaq (4) Firoz Shah Tughlaq
B3 BHY A% e TOYHIY 8O DS D2
(1) ero)s (2) wgrsbdS 9O
(3) o8 A3 Sod§ (4) 06°EF ar 3§
136. Which of the following statements is wrong ?

(1) The founder of Madyamika School of Mahayana Buddhism was Acharya Nagarjuna
(2) Yogachara School of Mahayana Buddhism was founded by Maitreyanatha

(3) Aryadeva and Buddhapalitha were the followers of Madyamika School of Mahayana
Buddhism

(4) Shantideva and Chandrakirti were the followers of Yogachara School of Mahayana
Buddhism

& (800 mégaﬁw@ef QB HDOTOH 57

(D @l TMEad0dy HoHFP AT BTG LS KN30 D g 0ETod Jo(DT TBIDNI
J*DO B ' '

@

(2) Do(B0% areach DoAY B EHEENH0L TWrHard DErod Fo(HT0H0B FHOW

(3) wdg Bk %0 o%ss»@éaés; LIS TGS S SganE DErod o(dEresH B
SPYSTeY AleRARvATeS) ’

(4) =~0& 82@)&3 H0ddw 50@5%_&0 PV SRORTON BRI Wéé)éé)aé%&) o3l ?o%?’oé O[S0
Wd0o0DoVIE ’ i




137. Identify the wrong pair
(1) Aryabhatta —  Aryabhatiya
(2) Brahmagupta — Kandakadyaka
(3) Varahamihira — Brihatsamhita
(4) Bhaskara — Panchasiddantika
S5 (800 aAS® B HOTHD 2S5
(1) edgayéo — esdsz;fe?oﬁo
(2)  DryoRndo — ZodsedgE
(3) STTAGTGED — )& &dowrd
(4) =08k — X:oﬁ?ocg’o@§
138. Which one of the following texts was known as the Bible of Tamil land ?
(1) Tirukkural (2) Silappadikaram (3) Naladiyar (4) Manimekalai
&5 (80d a°0S° @ (fogo S (Frod BOST HOHeBoW Eod.
(1) 88888 (2) 3¥dvy&s°8o (3) Sobwsrd (4) 8T
139. According to ‘Arthashastra’ the state is constituent of ‘Saptanga’. Identify the correct one.

(1) Svami, amatya, janapada, durga, kosha, danda and dharma

(2) Svami, janapada, durga, kosha, danda, mitra and kshatra

(3) Svami, amatya, janapada, durga, kosha, danda and mitra

(4) Svami, amatya, thataka, durga, kosha, danda and mitra

@g%"éjo (25°8%0 ‘Tago’ SIS ©0lI0o& &rd Gotwod. & 80d S & DOOHoH
(1) g, wdrdg, 208, &4, 8%, o L0850 S8y

(2) Jrgad, wIDE, Sod, §%%, So& Do(& Ho0B0 g° (&

(3) g, wdrdg, 2SO, $¢, §°¥, Sod H005» Do

(4) g, vdrds, SarE, 4, §%%, S0 Lo0d%» (&

140. Arrange the four Buddhist Council meeting places in chronological order.

(a) Rajagriha (b) Kundalavana  (c) Pataliputra (d) Vaishali

& (80 ady BB TG Hod DI BHHoes wOAD (HTFdwed (¥ Dopgs® (Fakwd.
(a) oramdyse (b) Hodowddo (c) IedYP (d) 370

(1) (@), (b), (c), (d) (2) (b), (), (), (d)

() (), (©), (b), (a) 4) (@), (d), (), (b)




141. Match the following

List-1 List-IT
(a) Kosala () Vaishali
(b) Licchavi (i1)) Kausambi
(c) Vatsa (iii) Viratanagara
(d) Matsya (iv) Sravasti
& 1808 D 2BDHHoH0

a1 e —I1
(a) §*%o (i) 3#®
(b) OBy (i) 8°=~0d
(c) sy (iii) DorerSHSS0
(d) So&yg (iv) @ﬁé?g

@ b (© (@
(M Gv) @ > (i)
2) @) G) G @)
G) @ @) G (>1v)
4 @) (Gv) (@O (i)

142. Which animal figure is not found on the so called ‘Pashupati’ seal discovered at Mohenjodaro ?

(1) Elephant (2) Lion (3) Tiger (4) Rhino
B0 S8 S dheydS DHH (g DS D 2oHD %0y BEY BB
(1) Do (2) Doddw

3) O (4) EDoyHdm

143. Which of the following statements is not correct about the Rigveda ?
(1) Rigveda mentions Varna
(2) Slavery was not mentioned in Rigveda
(3) Sabha the assembly was mentioned in Rigveda
(4) Rajan occurs many times in Rigveda
&ﬁsdzﬁwéé‘g 0 050D &1 (800 ST J (HEFED Sy 5036"’&26 &od :
(1) "$gD0" 500D SHTgEDHH B8 00
(2) WV EH0’ $00D STgEH0 WEYITEL
(3) D& %000 KTgSHD D&Y
(4) ‘el o SN HTUIEDH o Dorgadidner WER08




144. Match the following
List-1
(a) Bagor
(b) Langhnaj
(c) Bhimbetka
(d) Sarai Nahar Rai
& 1808 T 2BDHLHH0
A Lo |
(a) &5
(b) wohof
(c) DS
(d) dorow $G°6 ordd
@ ® @© @
I @O @ 3>y (@)
2 @O >Gv) >y (1)
(@) i) @) (Gv) (D)
(4) @v) (@) (1) (@)

List-11
(i) Rajasthan
(i) Gujarat
(ii1)) Madhya Pradesh
(iv) Uttar Pradesh

eIl
(i) o =JS
(i1) ﬁoa&’é
(iii) Sogg (9T
(iv) &8 (935

145. ‘Jorwe’ culture belongs to
(1) Chalcolithic phase
(3) Mesolithic phase
TG D00 )8 & TeodH TodHd

(1) o°(@o3we dsnio
(3) g ore dsndo

(2) Megalithic phase
(4) Ironage

(2) Y& &ERBwe dBwifo
(4) 2%005%5 oSwdo

146. Which of the following is not an objective of Swachha Bharat Mission ?

(1) Hygiene (2) Waste management (3) Sanitation (4) Beautification

(8od ES® b DU EE WHS ©F go 5

(1) &8H@g 8ge

2) X)S%S V8T e

(3) rohgo  (4) 20888808 &0




147.

Read the following statements
(a) Infant mortality means the death of a child less than one year of age.

(b) Infant mortality is the number of deaths of children under one year of age per 1000 live
births.

(c) Poverty of the family is the only factor, that contributes to infant mortality.

Which of the above statements is/are correct ?

(1) (a)and(c) (2) (b)and(c) (3) (a)and (b) (4) (a), (b)and (c)
(Bod (DTSt Wkghdw

(@) 3% oo edmr Doddydo Drostom R 3HK) Moddowdo

(b) 1000 25mr0S® HodEV805* Y SIVPond Do Jopg wvgrdomr 36 Hdere Dopgdd
Qg oI 8

() %o BE0Eo 28T 3hH Ko w0

D (DB TB000S° I8/ Jwo?

(1) (a) S0805» (c) (2) (b) L0005 (c)
(3) (a) S008050 (b) (4) (a), (b) L0605 (c)
148. Match the following
List-1 List-IT
(a) Golden Fibre Revolution (i) Fertilizer
(b) Gray Revolution (i1) Onion
(c) Pink Revolution (ii1) Petroleum products
(d) Black Revolution (iv) Jute production
e EHSBodD
a1 eI
(a) omd D% Jndo (1) SdHes
(b) &S oK YHo (i1) eOIrcsoen
() dowrd Joih YDo (iil) = (&*O o0 & & By
(d) S0 9do (iv) 2% &8N

@ b (© @
1 @O @) G @Gv)
2 Gv) ®H > (i)
() @) @Gv) () ()
(4) (v) @) @G (@)




149. Match the following

List-1 List-IT

(a) Zamindari system (i) William Bentinck
(b) Drain of wealth (i1)) Thomas Munro
(c) Mahalwari system (iii) Lord Cornwallis
(d) Rythwari system (iv) Dadabhai Naoroji
BEDHSBoX0

A | eIl
(a) 2DooTed AFdHHw (1) OB Boe3E
(b) (parwromr glo FBdo (i) @ Hd Ho°
(c) HobrSad DG (iii) o8 576>
(d) Begd vgd (iv) ororgron 3°6°=2

@ b (© @
() @) @Gv) O @)
2 @ G) @i (Qv)
G) (v) (@) () ()
(4) @) Gv) G @

150. Consider the following statements about key features of ‘100 Smart City’ project
(a) Automatic traffic signals
(b) Better public transport facility
(¢c) Face identification system to catch criminals
Which of the above statements is/are correct ?
(1) (a)only (2) (a), (b)and (c)
(3) (a)and (b) only (4) (b)and (c) only
(ol (DDVID0en HBROOTDM

100 wos s e’ (FBE Swwg of oo

(a) %gofoo FOE (rHE Jofo(Ee EOA Godwo

(b) &gl (Herrdaren JForgorod®o

(c) S0 180T “Hwn #00Q HgHH 0N wodwo

D (HIBId00S® D0/2D dwo?

(1) (a) S8 (2) (a), (b) 06050 (c)

(3) (a) H2005» (b) HrEDo (4) (b) 00030 (c) H(EDo




151.

Read the following statements

(a) The first hour of every parliament day is reserved for questions

(b) Zero hour is a typical Indian innovation in the field of parliamentary practice
(c) Judicial control over administrative acts stem from natural law

The correct answer is/are

(1) (a)is correct, (b) and (c) are wrong

(2) All(a), (b) and (c) are correct

(3) All(a), (b) and (c) are wrong

(4) (a)and (c) are wrong and (b) is correct

(Bod (DTSt Wekhdw

(a) (98 & PERod JdS Kob vHodho (HF°) EEHne EELH Beronod od
(b) FEToowd Fo(dprdrod® rEETH Jogm wdhdn Frdg dob (E8° ©8)
(€) 5°8gABgETrE FEgoD Jrgads AT%0o(En Dire I°g0s0 ok HWNIE

5BS HITGEHBD

() (a) dzo 52 (b) H5805» (¢) @0 By

(2) (a), (b) H000%0 (c) @ @fb‘l de0

(3) (a), (b) L0005 (c) e le EDYy

(4) (a) H2005» (c) @ Dy H03B» (b) J=o

152.

Supreme Court of India enjoys the power of ‘Judicial Review’, which means the power to

(a) Review the judgements of State High Courts

(b) Review the functioning of the Council of Ministers

(c) Advise the President of India

(d) Decide the constitutionality of an Act passed by the legislature and order of the executive
Correct answer is

(1) (a)and (b) (2) (b)and (c) (3) (d)only (4) (c)and (d)

P8 (20 §G ‘Trgodh DabE whs o) EOA Gob. T°gok DWE wdm

(a) o"a9 j_mgsé@ @Cbcb@éo DG oF o

(b) 200850080 Voo DN oBEo

(€) a8 7L 9nd8 Dot adgdo

(d) =03 T°p 8IrHoVS Fgrev, 5°8gR0 g E T ST orezrgods %Sézéa Vgonoae
ISHCEVIRSENOL] ALPeRerY

(1) (a) S08030 (b) (2) (b) %8050 (c) (3) (d) Lr&Eo (4) (c) 0050 (d)




153.

Which of the following pairs is correctly matched ?

(a) ADM Jabalpur Case :  Rights of Citizens under Emergency
(b) Vishaka Case : Centre State Relations

(¢) Indira Sawhney Case : Rights of Women at work

(d) Kartar Singh Case  :  Rights of Minorities

(Bod TAS* $TD wd 28?2

(@) 2.8.08. = SHE o2 g H0 S RISISTe Xa@?g@ DHODD D0 E® FE To&y e
(b) Dy sregdn © Bo& orR9 Do oo

(c) mobo> JHFED Tregdn DB (9TH0S owrde wrEp e

(d) o286 Doh oresgdn : §oa°6e§© [SaSpASH

Correct answer is
$BS Sdrrddn
1) (@ (2) () 3) (© 4) (d)

154.

Consider the following statements

(a) The First National Commission for Scheduled Castes and Scheduled Tribes was constituted
in the year 1992

(b) First National Commission for Scheduled Castes and Scheduled Tribes was constituted
under 65" Constitutional Amendment Act

(¢) C.H. Hanumanthappa was the chairman of the First National Commission for Scheduled
Castes and Scheduled Tribes

Which of the statements given above are correct ?

(1) (a)and (b) (2) (b)and(c) (3) (a)and(c) (4) (a), (b) and (¢)
(Bod (DDWId0en H08O0Bodw

(a) Bode 805 RErgS Horor B0 N drgS Bifo %S 1992 Yooéébda’)wé’s
DO"’(D@)D Dok &od

(b) 658 orrgod BVIGw wrgor BoEE 278 055 RNErgS Horo HNodn ndrgd Sde
NS doryeo Bk God

(€) 805 drgd Horo H0» WErgS SHo ENHS INSE BES . S,
[SARSSESICTS 2

D aDYS (B SII00S® 20 $TJIO

(1) (a) S08030 (b) (2) (b) L0805 (c)

(3) (a) S00805» (c) (4) (a), (b) L0605 (c)




1585.

Consider the following statements

Proclamation of ‘State Emergency’ under Art. 356 can continue beyond one year if

(a) The High Court of the State certifies that the situation in the State is very serious.

(b) The Governor of the State certifies that law and order situation is not under control.

(¢) The Election Commission certifies that it is difficult to hold elections to the Assembly.

(d) The President is satisfied about the grave situation in the State through independent

investigation.
Which of the above statements is/are correct ?
(1) (a)only (2) (b)and (c) (3) (c)only (4) (a)and (d)

[Bod (HHBBIwoo HOID0ZDN

‘©08S 356" (H5°80 2.8 075 90S° wdghvd H8PED 2.8 HobEySdw Mo IR0 00T

(a) & 0°0908° (XD HOVHrea )00 & o°h9 °E°G Vgr0oWLBD

(B) %90 T0d FESwo v T (8615 DF0oIBTL

(c) o U"%?O@% e—ﬁoo@ AV)Foo Vg oWE0 FQ N D Fo Hopoo Dg"@oﬁéﬁ@éﬁa

(d) Hgo(E BEFES crgom BeriaE™, T0908® B(HHOLHes EHFHET0HD oEgHe
bodyh BoSHBH |

D (DB I8L00S° I8/ Jdwo?

(1) (a) S8 (2) (b) S06050 (c)
(3) (c) dr&F0 (4) (a) H2060%» (d)
156. Read the following

Afrﬁember of'a House belonging to any political party shall be disqualified from being a Member
of House.

(a) Ifheis expelled from the party.

(b) Ifhe has voluntarily given up his membership of such political party.

(c) Ifhe votes or abstains from voting against the whip of the political party to which he belongs.
Which of the above statements is/are correct ?

(1) (a)and (b) (2) (b)and (c)

(3) (a), (b)and (c) (4) (a)only

(Bod (DHHEILwen Wekohw

e.8 orad ol iﬂ’é § [ohd 3108 dghgdko (80b X)é?géo@ef’ ES TS JFGEgI8 WSk
)& E.

(@) &3 F§ Ho08 WH)EHH $TID P

(b) &3 8D “:o‘gzﬁt)ocsom SO DEIDH ko

() 85 rd dIS DL ég@ééom TH5 DYPS® ado TDIdypd Too foreb

@ooozézao}vcéo
D (D3B3 B0 DB/ Je20?
(1) (a) $06052 (b) (2) (b) H080%0 (¢)

(3) (a), (b) 805 (c) @) (a) gD




157.

Assertion (A) : The Parliament is empowered to alter the boundaries of any existing State of India.

Reason (R) : Abill pertaining to the alteration of the boundaries of any State can be introduced
only in Rajya Sabha.

Answer :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct and (R) is not correct

(4) (A) is not correct and (R) is correct

BEFES (A) @ THoS® &I8S® Ho Q 0o 9 VOTGOII® T Whs*Eo P0G
e do.

sgedn (R) @ oog9 S0 ol ST Dood Tdwo orag DFS'T (DB DHITDH.

Ddrgedo
(1) (A) %8052 (R) @ Todk o H500050 (A) 8 (R) $0 TS A58 e

(2) (A) 00050 (R) @ Bodor dzzo 570 (A) 8 (R) D000 D8 5060
(3) (A) Q=0 (R) 82y
4) (A) &5y (R) deo

158.

Read the following

(a) The provision of All India Services are explicitly stated in the Constitution of India.

(b) The provision of National Development Council is not stated in the Constitution of India.
(¢) Stamp Duty is levied by the Union, but collected and appropriated by the States.

The correct answer is

(1) (a) and (c) are correct but (b) is wrong

(2) (a), (b) and (c) are correct

(3) (a)and (c) are wrong but (b) is correct

(4) (a)and (b) are correct but (c) is wrong

808 (HHSToB Wb

(2) ©o g8y Dogoe I oFden grdd orergodod® D Hom WE YT

(b) w@oﬁy’i)éag $080 (DX rdE orergoros” B

(c) FoR &g Bo($o VPV, TP F°E HHred BED DITWrAowWE BBy
ISHEESIE- T A

(1) (a) 20052 (¢) dz=o 57 (b) SDHy

(2) (a), (b) L00805» (c) @ deo

(3) (a) H08B» (¢) @ By s° (b) 2By

(4) (a) $00052 (b) @ by 570 (¢) Dy

159.

Conventional energy source is

(a) Solarenergy (b) Wind power (c) Bio-gas (d) Nuclear power
JPO(DTPAH FOFD HIBH el

(a) dordg 4§ (b) 255 48 () Bor-mrgd (d) weso %8

(1) (a) 2 () 3) (0 “4)




160. Who among the following Presidents of India was associated with the Trade Union Movement in

India ?

(1) V.V.Giri (2) N. Sanjeeva Reddy
(3) Zakir Hussain (4) R. Venkatraman
P88 TR 9HHOS” 08 wigHrod Yo ogo Lomrd

(1) 2.29. 080 (2) 3. DoLH TS
(3) DG oS (4) 6. Jo¥wor S

161. The following states share border with Uttar Pradesh
(a) Punjab (b) Rajasthan (c) Chattisgarh (d) Jharkhand
Correct answer is
(1) (@), (b), (c) and (d) (2) (b),(c)and (d)
(3) (a)and(d) (4) (a)and (c)

B0b TS &85 (HBFS 10T Ko Targes DD 2

(a) Hoerd (b) oS (c) w8298 (d) ==gob
DTS ddrgedo

(1) (a), (b), (¢) %805 (d) ) (b), (c) %2605 (d)

(3) (a) L0800 (d) (4) (a) S0005%» (c)

162. The state having largest area of forest cover in India is
(1) Madhya Pradesh (2) Assam
(3) Arunachal Pradesh (4) Haryana
PrESTH0S® wdns INYo wiHeo Ho TR0

(1) $gg ($B5 (2) »yo
(3) @S SS (HTF 4) Sovgs




163. Match the following

List—I List—II
(States) (Boundaries)
(a) Tamil Nadu (i) Maharashtra, Karnataka, Odisha and AP
(b) Tripura (i1) Pakistan, M.P., J] & K, Haryana & Rajasthan
(c) Punjab (iii) Bangladesh, Mizoram
(d) Telangana (iv) Kerala and Karnataka
238D BoBod»
eI >de-11
(U".g“ge») (é&&oéom)
(a) STk () Hostorg9, omyws, a.dd), wo(& Bkl
(b) 18D (i) 8IS, Hogg (535, 2235007y o0& ?%&5, e orgd Ho00%w O"’&@@"S
(c) Hoerd (ili) omBF, wegto

(d) 8oworre (iv) B8¢ %0050 Eor &¥
The correct answer is
DTS Ddrarddw
(a) (b) () (d)
(H av)y @) (1) (1)
2 @ (i) i) o (@v)
(3) (@Gv) (i) (1) (i1)
(CORNC) (i)  (@v) (i)

164. Read the following
(a) Tropical forests are found in Andaman and Nicobar Islands
(b) Monsoon forests are found in Shiwalik Hills and Chotanagpur plateau
(c) Hill forests are found in Southern India and Himalayan region
(d) Tidal forests are found in Central India
Bod (DIWSDdwe oD
(a) &% H0do wEH WoEIrS H00H WG SHos® EIFron
(b) dTrsron) vdHos 35705 Fodes $0dn & HYrs PP (Frogod® EDJow
(c) 38 r8ETHo HI0WH W Hreddh [Frozrod® DEZE (0¥ @EHLIT") oW
(d) oo 8D wdHeo Sy ~EETHoS” so)om
Which of the above is wrong answer ?
= Léézﬁ;ééw@é”s Q8 EDy
(1 (a) (2) (b) (3) (o) 4 (d




165.

Assertion (A) : A rapid growth in population has been recorded in census since 1921.
Reason (R) : India’s death rates declined gradually since 1921.

Correct answer is :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

BOFSS (A) : 1921 =arer BE o DESH H008 rISTHoS® 0d %@w@oé RBCY
5)8 SFrBL6.
80 (R) @ 1921 vod& 8o SHhard r8ETF0S® Hodero Tew (Edoom Ehod.

DTS VIrerdd0

(1) (A) £8050 (R) @0 Tods deo H0005» (A) 8 (R) D005 dd8e
(2) (A) 200050 (R) @0 Boddr Qo 5720 (A) § (R) 10000 Q58 57
(3) (A) dzo (R) 85y

(4) (A) 85y (R) d=o0

166. Which of the following regions is first affected by the south-west monsoon ?
(1) Kerala coast (2) Coromandel coast
(3) Himachal Pradesh (4) Bihar
S8 0HDIT TGO @ BoR)/(@PoEe) TS 00?2
(1) 28¢ 8o (2) 88088 dFo
(3) oSS (HTF 4) D55
167. Assertion (A) : West flowing rivers of peninsular India have no deltas.

Reason (R) : These rivers do not carry any alluvial sediments.

Correct answer 1is :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

PEF;ES (A) 1 8 éséé’@soeﬁ’s DEBE DY (D30T &0 Byred D).
s¥edn (R) @ & 3800 Jorod ao(d @3 ol SrBED).

DB Vdrerddn

(1) (A) $8052 (R) Toddo Do Ho8a5» (A) 8 (R) 000305 5w

(2) (A) 0050 (R) Todk dzo 520 (A) 8 (R) D000 DHTenr 5°¢H
(3) (A) dzo0 57 (R) 8Dy
4) (A) 5y 52 (R) d=zo




168. Match the following

(2)
(b)
(©)
(d)

List-I
Banihal pass
Rohtang pass
Niti pass
Nathu La pass

Ss (808 FPAQ 2SDLHR0
Al |

(a)
(b)
(c)
(d)

S >H
& S0h D
Q& 5
S D

Correct answer 18
DTS DXoreEdo

@ G © @

List-I1
(1) Jammu & Kashmir
(i1)) Himachal Pradesh
(ii1) Uttarakhand
(iv) Sikkim

eIl
(1) =0y & S"’%&S
(i) WSS (HTF
(iii) sSoepob
(iv) 280

() Gv) @) G @)
2 O G () (1)
(3) @Gv) @) @) ()
4 @O G (@v) (i)
169. Assertion (A) : Major Industrial regions of India have developed in the immediate hinterland

Reason (R)

(3) (A)is true but (R) is false
(4) (A)is false but (R) is true
PSS (A)

sSe0bn (R)

)
4)

ports of Kolkata, Mumbai and Chennai.

: The ports provide access to the raw materials available in the hinterlands of

these ports as well as to the world markets.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

PESTH0S ) §° S8, dwoBow HOn BI) & THodH whoH &y

PRLE (@rozrod® @“6@"’333§ @“oa"m ooy @&ég&ﬁoww

& 48 THoo % PRE (Fozrod® 0hoT Hud HEHod Podw8

50050 (Do HrT lol BEEIE wlHm G ow.
(1) (A) £08050 (R) @0 Tod dezo H50005» (A) 8 (R) D000 d8e

(2) (A) %005 (R) @ Todkr dwo 529 (A) 8 (R) $00HS IdSe 526

(A) =0 5 (R) Dy
(A) &0y = (R) Qo




170. Match the following

List—I List—II

(a) Manganese (i) Madhya Pradesh

b) Nickel ii) Odisha
Ecg Lead-zinc Eiiz) Rajasthan
(d) Asbestos (iv) Telangana
RSP EROPIRY)
eI eIl
(a) Sroddd () g3 (535
(b) J3S (i) 2@y
() 20H0-20§ (iii) or=J=S
(d) o) (iv) Boome

@ ® © @
() G ) ()
@ (v Gi) G ()
3 O ) i) ()
@ v ) Gi) G

171. Which one of the following is/are primary economic activity/activities ?

(a) Transport (b) Communications (c) Mining (d) Farming
Correct answer is
(1) (c)and (d) (2) (b), (c) and (d)
(3) (b)and (c) (4) (a)only
(Bod a°0S° DO LD (PEWE 008 sedgsorare 5188 TokhEod?
(a) S (b) éémgbé&éo (c) Koo (B580 (d) SgdJras0
DT ddrgedo
(1) (c) $0805» (d) (2) (b), (c) S00605x0 (d)
(3) (b) 000350 (c) 4) (a) d-(8o
172. Which of the following are the chief sources of hard wood timber ?
(a) Broad leaved evergreen forests (b) Broad leaved deciduous forests
(c) Evergreen coniferous forests (d) Needle leaf deciduous forests
Answer is
(1) (a)and (c) (2) (a), (b)and (c)
(3) (a)and (b) (4) (a), (b), (¢) and (d)

(Bod aAS° T o0& (drrdormr K Eod 0ot ?

(a) V&8 sH do DEET08 wdHo

(b) Iher)& sHor fo 9B wdHes

() JVESH08 Fyomrs Iy widpHen

(d) 270 Bod v5°8Y wHHeo o wHoDTY eden

DTBL e 9

(1) (a) $:605 (c) ) (a), (b) $:605 (c)

(3) (a) $:605 (b) 4) (a). (b). (c) 2605 (d)




173.

Consider the following crops

(a) Cotton (b) Groundnut (c) Rice (d) Wheat
Which of the above are Kharif crops ?
(1) (a)and(b) (2) (b)and (c)
(3) (a),(b)and (c) (4) (b), (c) and (d)
Bod Hoveod H08O0Hw
(a) ©&8 (b) BSo¥5H (c) @ddgo (d) A oo
D 58S D 985 Doven
(1) (a) $08030 (b) (2) (b) 006050 (c)
(3) (a), (b) L0005 (c) (4) (b), (c) S00605xn (d)
174. Which one of the following shipyards makes warships for Indian Navy ?
(1) Vishakhapatnam shipyard (2) Kochin shipyard
(3) Mazagaon shipyard (4) Paradeep shipyard
8 I sed 08 SAEIRIS oﬁwcqs ot S35 Bw J°s(F0%0
(1) Jmpden I se(¥ako (2) &) Ss(¥ado0
(3) Sommrs Ise(f0ss0 (4) 86D s (fos0
175. Who among the following tribes live in the Union Territory of Andaman and Nicobar Islands ?
(1) Apatani (2) Munda (3) Santhal (4) Jarawa
(Bod BRHD D Bifen So(8 O (FrodHd ©oddrS-J5° Sod® INEISI VoS
(1) ©da (2) S0odk 3) Dogd (4) woeae
176. The limited safeguards of employment under mulki would remain in operation in the Telangana

Region upto the end of December 1980. In the case of Hyderabad and Secunderabad these

safeguards would continue only upto the end of December 1977. According to
(1) Six Point Formula (2) Eight Point Formula
(3) All Party Accord (4) Five Point Formula

&g Sofos® Boomn (Foard8 Hd) Erdod® E0yo% ¢ SEmen 1980 o & &rdo
DHO HBE wHoens® Gotran. 52 Zeddorerd S000kn v8o(mrerd 2ol Nlefep eeISTok oo (00
©@d 1977 &0 § Hdo DHO HBH @D whend® sotron od 8O HE¥o

(1) =& drero 80 (2) of drg vELo

(3) @Po DE adyodo (4) Dobdrg vEso




177. Which one of the statements is not correct ?

(1) Article 371-°D’ facilitated for the Zonal system in Andhra Pradesh.

(2) Jayabharat Reddy Committee was appointed in 1984 to enquire into the irregularities under
the six point formula and Presidential order.

(3) Kamalanathan and Umapathi Rao were the members in the officers committee.

(4) Abdul Khadar, a senior I.A.S. officer was appointed in 1985 to scruitinize the officers
committee report.

& (800 FEgENOS® B HOTHIG 5

(1) ©0&S 371 & (v5°8dw wo(g (HTFS® £35S HgHY AT ©020H

(2) «8 Sor(Ero DEEo 0N 07R9N8 wEBge YOIV Dwrde TBb0wE wo(d
(PTF (He0Sgdn 2a5emdS TG EeD 19848° JoshawoDod

(3) EHoTES Bo00» SBTHBPHL WHdEy MG S vebgews

4) @%3?05(3 ¢ ©0b0DS ITHEDL H03DoBowE 1985e° © 26 rib el 2000558
0.0.00 @50 Jodow T

178. Match the following

List-1 List-I1T
(a) My Telugu Roots : Telangana (i) Nalamotu Chakravarthy
State demand — A Bhasmasura wish
(b) Battleground of Telangana (i1) Gautham Pingali
(c) The fall and rise of Telangana (iii) Venugopal
(d) Telangana—United Andhra Illusions (iv) Kingshuk Nag
& (800 G 2BDEHWoL
AR | eIl
(@) o S §rdy @ Boomn Q& (i) Joords JEH0
GDr0&- PIIryd IR
(b) 2rg3d (Tob & Boome (i) Ao oK@
(c) & S wok BD wy Sworrsn (iil) SeaftrS
(d) SBoomrn-dS»3IBE ©o(d avged) (iv) 80A%0E oh

@ b (© @
(H Gv) G (1) (i)
2 @ Gy @) (Qv)
G) @ Gv) (@) (i)
(4) Gv) () @) (@)




179. Arrange the following statements in a chronological order

(a)
(b)
(©)
(d)

& (8o 8 (Bdordoreon eddyok

(a)
(b)
(c)
(d)
(1)

)

Declaration of K.Chandrashekar Rao Fast unto death.

Telangana March to Necklace Road.

Prof. M. Kodand Ram was nominated as convenor for Joint Action Committee (JAC).

Suspension of Telugu Desham Party from Joint Action Committee.

3. Fo(dRE vl wdodn JISHISEE (HELD

[ED 5& 8 Svorres zérga

(&, §&odoro eronod wEs §08 (JAC) §§)5265(T° Q5 RHoEH»
w000l ©ES ENE Hood Voo TBHo ;§  Wwh)dw

(a), (d), (b), (¢)
(b), (a), (), (¢)

2) (@), (©), (b), (d)
(4) (a),(c), (d), (b)

180.

Match the following

(2)
(b)
(©)
(d)

List-I
Goreti Venkanna
Nandini Sidha Reddy
Guda Anjaiah

Gummadi Vittal Rao

Ss (808 dPAQ 2SDHGHoRw

(a)
(b)
(c)
(d)

(1)
2)
3)
(4)

a1

5T To&d b

S089 Do TE

8 wowmalag

HH & DES v

@@ b © (@
@H  @Gv) @) ()
@)  @Gv) (1) (1)
(iv) @ (@) (i)
@) (@) @G (@(v)

List-11
(i) Ayyoniva Nuvu Avvoniva
(il)) Amma Telanganama.....
(iii) Palle Kanneeru Pedu Thondhi
(iv) “Nageti Sallalo Na Telangana.....

eIl

(1) ©0Brgdd Jodg @585505

(i) odry Svomrnddry...

(iii) B A 8 D&&0d

(iv) ">hE FHe' & Boomres...




181. Match the following
List-I List-I1
(a) Dimsa (i) Babban Khan
(b) Adrak ke Punje (i1)) Gonds
(c) Perini Dance (ii1) Fastest dance form
(d) Pittala Dora (iv) Budiga Jangalu
& (80D TP wSDHLWorkdw
R | eIl
(a) a0 (1) ACEEAS
(b) » &5 B vo= (il) A*ocdsood
() 08 @)y (i) SHBoEZd SyBgdm
(d) »vo &Y (iv) o&% eomren
@ ® © @
(H G @ () (Qv)
2 @ ) @) (31v)
@) G @) @) (@Gv)
4 @v) @) @ (D)
182. Match the following
List-I List-11I

(a) Ramlingeshwara Temple
(b) Erakeshwara Temple

(c) Sita Ramaswamy Temple
(d) Venugopalaswamy Temple
Gs (800 ) wBHIHH®

AR |
(a) o°®0THY wodsho
(b) J8TAE wodko
(c) Derordodrgd wodkho
(d) S’ roIgd wodso

@ ® © (@
(H Gv) @) @) (i)
2 @) @ () (Qv)
() Gv) @) () ()
4 @ @) G (>Qv)

(i) Dichipalli

(ii)) Kondaparthi
(ii1) Pillalamarri
(iv) Nandikandi

eIl
(i) &D0Y
(ii) §°0udDo
(i) DooHd
(iv) S0d¥%0d




183. Match the following

(a)
(b)
(©)
(d)

List-I
Mannemkonda Jatara
Durajpally Jatara
Siddulagutta Jatara
Singaraya Jatara

Ss (8080 D wBHBHH®

(a)
(b)
(c)
(d)

eI
éaBlo?océ ataYel
$oEDY rEY
i’o%io@(ﬁo%) Al Yol
VoK oros eSS

@ (b (© @

List-11
(i) Laxmi Narasihma Swamy
(i) Siddeshwara Swamy
(iii)) Anjaneya Swamy
(iv) Lingamanthula Swamy

eIl
(1) @ég SEDoT Iy
(i) ©QFgEI gk
(iii) &90@3050@?5839
(iv) ©ofHoogooIrgad

184.

() @G @G @ (@Gv)
(2) @) (@Gv) (@) (@)
(3) @Gv) () @) (1)
@ @O a) (@v) (D)
Match the following
List-I
(a) 9™ month of Islamic calendar
(b) Moharram
(c) 10th day of 12th month of Islamic calendar
(d) Milad-un-Nabi

& (808 7B wEHEH®

(a)
(b)
(c)

(d)

(1)
2)
3)
4)

AR |

a8 57gTodb &oydd TJo
S (8o

BT NE 5°gTVoES DI)odd
TS H3d &

Dorh &S I

(@ (b (© (@

i) @)  (v) (i)

(i) (@v) @) (1)

@ @Gv) () (i)

@iv) (@) 1) (i)

List-11
(i) Prophet Mohmmad’s birthday
(i) Bakrid
(iii)) Ramjan
(iv) Shiyas

eIl
() Ho%e8 (DI wdybd0
(i) (886

(i) SoerS

(iv) 2dsreo




185.

Which of the following is not correctly matched ?

(1) Lambadi Hakkula Porata Samithi — Bellaiah Naik

(2) Gouda Jana Hakkula Porata Samithi — Elkakatte Vijayakumar Goud
(3) Vaddera Hakkula Porata Samithi — Dubbagatla Narsing Rao

(4) Chakali Hakkula Porata Samithi — Poosapally Saidulu

s 1808 aS® DO VOTHD wd 52

(1) ©oerd & o JFord V& — Boddg o708

(2) 86 &2 TH o Ford DN — JoEF dwdhBHdrd 776

(3) $BI Ty o Ford D& — & Ndd SdyoHdorD

(4) o8O H o TFord DN — Yrovd e

186.

Find out the wrong pair concerned with Burgula Ramakrishna Rao Ministry in 1952.
(1) Mehdi Nawaz Jung — Public Health and Public Works

(2) M. Chenna Reddy — Agriculture and Planning

(3) Digambar Rao Bindu — Home

(4) Shanker Dev — Education and Village Development

1952 &° DCSQ&:S TEo TrdE)arory) 0o HELNIH Do 0How DO 570 wd INIaYs
(1) Dord SaeE 20h — Lﬁawé’sﬁgéw, (Derddom

(2) Qo. B") TG — HgHI" oD H8B0 (Her P

(3) &do Bord Doy — wodIohs Hgddoren

(4) %086 B — esg B0 TB» (o8 ©H)O

187. Name the leader, who presided over ‘Telugu Bhasha Samithi’ meeting in July 1955 and asserted

that “Culturally Vishalandra was already a reality”.

(1) Konda Venkat Ranga Reddy (2) Burgula Ramakrishna Rao

(3) Madapati Hanumanth Rao (4) Mandumula Narsing Rao

1955 28 Hoddns® 200 Beoth grar DM’ HIrBTI8 o Dby Trod) yB¥omr
DForo($ a8 rddm adyEE HerSod.” wd Tgergdood.

(1) §ow Bosd Somr TG (2) o ochEaroD
(3) Srdare TrdobdooEord) (4) Hoododwe HoyoKorD
188. To oppose Sanjeeva Reddy ministry in 1963 who said “Andhra Government, seem to be a

Government of the Reddys, for the Reddys and by the Reddys” ?

(1) T.N. Sadalakshmi (2) Konda Laxman Bapuji

(3) S. Nagappa (4) K. Rajamallu

1963 &° 8BS H0LHTE (Hehdgidmdy HgBT8L: “wo( (HehEgdw, Tho (HghEgLn,
B%@ §°8% 0d0dm B%@ﬁ” ® w"swgbo{’bo&

(1) &.9:. fomoég (2) Soa of 8 wrpd

(3) 2. >AD) (4) 3. occedow




189.

Before the States Re-organisation Commission many leaders expressed the opinion that the merger
of an advanced region like Andhra with a backward region Hyderabad State would lead to

(1) Backwardness (2) Development

(3) Disintegration (4) Internal colonisation

ar9o HI6 DPed EWRS Lot Te 00 TohHE Tew 2D PPN (HSPEH
“@@263@60&26 Bo($Trol (FoB08 JE ¢ (FosDH IEoers TR EOBIT
©d wodomr I8 b BswDHD rdowd.”

(1) BloEerdn S350 (2) @98
(3) VY08 (4) ©od8dg H00H
190. Which one of the following statements is not correct ?

(1) According to Gentlemen agreement, future recruitment to services will be on the basis of
population from both sides.

(2) GO. 610 was issued to rectify the lapses in implementing the Presidential order and injustice
meted out to Telangana people.

(3) According to the Gentlemen agreement the Cabinet will consist of members in proportion
of 50 : 50 for Andhra and Telangana respectively.

(4) In 1953 the Government of India constituted State Re-organisation Commission under the
Chairmanship of Justice Fazal Ali.

&3 80O (HILII00S® DO HTHO 526072

(1) D Hodotwe 2dyoddn (Hseddn FRgHhe® adHes’tTh Jdrisod) aoyr
(EDOET wdoiozrom.

(2) 2=.4. 0. 610 D &S T2od 0PR 908 G Bogo IENENSS 28t EI0) TEI QD
Q0088 Soomrn (DuodH wdifdid) ©I°gaidnod Qa0 Q& 5.

(3) & HoJoo 2BhyodHd (HEPEBH o°RY 95&865_&5”5 8l (ool @o(F-Bwomrs
(Froere 08 $0(8 DEHoo 50 1 50 L YES® sord.

(4) 1953 &° 28 (Deodgdn uRR pud ®d 3&9@30@3’5 R 9dNe PHI& JPFud
Do §%o V%oV 0s.

191.

Who was the editor of Telugu version of ‘Meezan’ newspaper ?

(1) Madiraju Koteshwar Rao (2) Dasharati Rangacharya
(3) Devulapally Ramanuja Rao (4) Adavi Bapi Raju
e H(BE Booth (HB8 DD ABGET S0&d?

(1) drooce §THE6 oo (2) 486 Somadogen
(3) TBHOBO crdrdieod) (4) ©3d wrdove




192.

Match the following

List-I List-11

(a) Leader (i) Mamidi Ramakanth Rao
(b) Jai Telangana (i1) Munir Jamal
(¢) Tenugu Vani (ii1) P.Janardan Reddy
(d) Telugu Gadda (iv) S.Satyanarayana
& 1808 D 2BDHHoH0

AR | eIl
(a) ©&& (1) Hr0d Sdrscodord)
(b) B Sworre (il) 06 wdrS
(c) 8dofo o°¢3 (iii) ®. ==rgS TS
(d) Seods K¢ (iv) %, vEgToradem

@ (b (© (@
() @) (Gv) @) ()
2) @) @)  (v) (i)
() () (i) Gv) ()
(4) @) G O (@Qv)

193. As a part of the Economic reforms and on the recommendations of World Bank, the then
Andhra Pradesh Government divided Andhra Pradesh Electricity Board into
(1) Generation, Transmission and Construction
(2) Generation, Transmission and Distribution
(3) Hydel Power, Solar Power and Thermal Power
(4) Distribution, Construction and Transmission
STl coo(ozrésaéaaef’ rfonr 0% (Do argoéa Qrddo8 wdhemonr @8 wo(d
L@c‘ﬁ% orR9 (DghEgo oray bcﬁagvﬁgé S Horecdd “:oo{genn" dPBoWod.
(1) &&y8, dEHo Hodasw ZOO"’&S@O
(2) &EN8, DIHor Hod» Dol
() =o I8gs, Ford JBogdy HBWBH FEIS A&ogEy
(4) DoRed, doryewo DO DIHo®
194. Which one of the following statements is not correct regarding 1969 Telangana movement ?

(1) Telangana people questioned the idea of Linguistic State : A.B. Vajpayee
(2) Telangana people will not accept less than Regional Autonomy : C.C. Desai

(3) Prime Minister should consult Telangana Prajasamithi leaders before anouncement of any
statement in Parliament : K. Manoharan

(4) Prime Minister should take political solution to the Telangana movement : K.L. Gupta
1969 Sovomren cdginkinds So 0hod) & Bo& @32675262633695'5 NI DOOHIL 57

(1) SBewoore Lcoeaeo el (DOS0E 0 9N PrIIBY (DB)oWI S ¢ AB. sredron.

(2) Soorre (Hueo @vo@oﬁa 0g030 DTTAE (HBHES FoT SE) & (DBISHX ©0HE00¢:
C.C. Ba~ow.
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195. Match the following

(2)
(b)
(©)
(d)

List-1
Porakala Dora
Whiteman
Sahu
Ganapati

St (808 &P 2SN D0

Al |

(2)
(b)
(c)
(d)

o &8
Eﬁérgg

J° W0

fefoR 1)

@ ® (@© (@

List-11
(i) Shanigaram Venkateshwarlu
(i) Dasari Laxmikantham
(iii)) Muppala Laxman Rao
(iv) Ekkaladevi Sambashiva Rao

eIl
(1) #dd8o Sos"éjr‘éoggo

(i) %0 @ég?oéo
(iif) dory¥ oF 6 o°d)
(iv) 28 0T Fo SN

196.

(D @Gy @Gv) @@ (i)
2 ) @ (@v) (D)
G @O @ 3>y (@)
(4) @Gv) @) (@) (i)
Match the following

List-1
(a) Hiten Bayya Committee (1)
(b) Gangopadyaya Committee (i1)
(c¢) Koneru Ramakrishna Rao Committee (iii)
(d) Subramaniyam Committee (iv)
& (80D TP wSDHL W0

Lot |
(a) 8 dSrg e (1)
(b) Kol rgrgass EDoe (i1)
(c) E°T&H ordogyarod e (iii)
(d) S0 Hoego el (iv)

(1)
2)
3)
4)

@ ® © (@
@ G Gv) ()
(i) @) Gv) Q)
i) () Gv) (i)
(i) Gv) i) ()

List-11
Salaries and pensions of the Government Employees
Electricity
Public Sector Industries

Higher Education

Akl | |
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197. Match the following
List-1
(a) Jai Bolo Telangana
(b) Shadow lines
(c) Still seeking justice

List-11
(1) Shanker
(i) Prem Kumar Aman
(iii) K. Chandrasheker Rao
(d) Nyayam Kosam Telangana Nirikshana (iv) Osmania University Forum for Telangana

Ss (808 &P 2SBDLHoRw
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@ @@ @ (@Gv) (i)
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198. Match the following

List-I

(a) V. Prakash

(b) Bhoopathi Krishnamurthy
(c) Muralidhar Deshpande
(d) Akula Bhumaiah

List-11
(i) Telangana Janasabha
(i) Telangana Mukti Morcha
(iii)) Telangana Mahasabha
(iv) Telangana Prajasamithi

&5 (800 TG 2BDEHWoL
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199.

The Government of India appointed a committee under the Chairmanship of A.K. Anthony
to look into the issues concerning the proposed division of Andhra Pradesh State and to
workout the modalities related to the division. The members of the committee are

(1) Digvijaya Singh, Ahmed Patel and Mallikarjuna Kharge
(2) Digvijaya Singh, Veerappa Moily and Gulam Nabi Azad
(3) Digvijaya Singh, Veerappa Moily and Ahmed Patel
(4) Digvijaya Singh, Ahmed Patel and P. Chidambaram

©o(§ (HTF 0°R9 Fed o300 SEND)HTog DHoVgosy HOANSTE SWED Y
DOFY THIK Sy drSdes ad) IDdsn grdd (Dahdgo AK. ©ofd wgggsd
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200.

Match the following

List—I List—II
(a) Metpally (i) Bronze works
(b) Pembarthi (i1) Khadi
(¢) Gadwal (i11) Bangles
(d) Hyderabad (iv) Handloom Sarees
S (808 T8I 2BDIoodw
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(b) o & (i) 6
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